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DR. BABASANER AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE -

Regular End Semester Examination

Course: B, Tech, (5.Y.)

Subject Code & Name:

Max Marks; 60

Instructions e the Sindents:
All ehe questions are compulsory, - " :
The level of guestion‘expected answer ax per ﬂﬂE e -’h-r E.ﬂﬂl'ﬂi‘-' ﬂmmm rﬂ'ﬂj r.u:r : !

L

I
2

3,
o,

which the question (s based {s mentioned in |"':-.|' Fnjﬂm :g.fIF?E ﬁueﬂ.l‘m

Teranch : CIVIL

BTOVCANS HYDRAULICS T
Dvates 27/08/2022

Use of non-programmable scienific mfminm-r.-r Ir uﬂnu‘;d'
Assume sutiable data wherever m:r.un.r_lnmm' mmm:;.ll i m'mr{p

P

Q.1 Solve Any Two of the following.
A) Define open channel flow and :ﬁ.t‘i‘::n:mm: pq}F ﬂ.:m,: ﬁ;umthmj ﬂﬂw

B) Derive an expression for discharge mmm mmaﬂln ﬂm,;-:h & .--:-.

25 =
|_,_'

C) Find the time required to lower durwn wntt[]:'-':l frmna mlbz m m a=

reserveir of 80 m x80 m by
i) a rectangular nodchinf
ii} a right angled ‘i.-',unlv:"h.

Q2 Solve Any Twa of the fﬂIIﬂWIng.r'.ﬂl SR
A} Derive an expressioh l‘:u-:mmt Efﬁnmn nmlﬁnfi

Take Cd = nﬁz.s:n:huamw

P

L"""--Hr
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AR, e i ey

Tﬁ%F#&

'\,.n.-"‘:-\..
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B) Explzin with meat &:aqﬂmﬁ—mmmw

C) The d:schurgnul' wai‘:r llimugh a mdangu!-ar dﬁn’?ﬁel d.l‘ﬁ?dili'i'm :
discharge Ijﬂsm

_ﬂ=pm-*~

------ 1\.1.--,.\.

i spmﬁcnmm i ':!} ::nu
‘.-“""-" -‘l."- “'"“-'\-I\.
i) mmnml.nn rpmﬂi: 'n:r:u:rm.r &

-\.-q,.l-

"-“c-
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0.3 Entlrc ﬁn}- Twﬂﬂrthn,fnllnw‘ng.

A) Dmve Ih't- l!;"l'tﬂl'ﬂl:.‘.’ éqmmn pﬂdunllyv&ilag' ﬂuw
My pE ol
B)r A sluiqt‘*gal: dmrlﬁrge; water inte u“‘.hhfusmta? rectangulas

o .:Iuthurge 19,20 ml!s.,*.l."ldlh -:fi:!wm:'lﬂ m and depth of flow 0.40 m.
~Determine \l.l'l'll:lhlfl' ajump -ml[ m:ur gfsp find its height & loss of energy
"'\1
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T i The gurved plate is also fiioving with a velocity of 8 ms in the direction
'_-‘.'-_{ o uf}:t TJ'I:J-H is dcﬂmed mruu:,h an angle of 165 0 assuming the plate
FEL smmlhﬁnﬂ o
et T jj‘f-pn:: cxcrl.fd]}}' _'|¢I: i1} wark done by the jet
gy m__"-_f:;hlm Ay Two of the following,
o "" ’A] Elmﬁ’; Ehl'l'mnt l:mcs ‘of turbines. Also differentiate impulse and reaction 3 o
P _.-_. lulﬁllf'-‘" hf"i_.l;_i Y y

.'| T . T Y b
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15 BABASANIED AMBEDEAR TECHNOLOGICAL UNIVERSITY, LONERE
Regular End Scmester Exwmination = Summer 2021
Course: B. Tech. Rronch: Civil Enpineering ' Semoester: 1V
Subject Code & Name: HTCVC402, Environmenial Engincering ! ?
Max Marks: 60 Date: 18082022 Duration: 3.45 Hr.

Instractions to ghe Studerts: j
Al the guestions are compisory.
;‘ The ﬁ:rf]' rﬂ'qmsrmu-fa_-.rpnﬂf:i' @RsWer as per {HJ'E r.rr.r.ﬂrr.. Lﬂm"n:' (ufcome ;F,f}; Tt
" swhich the question is based ix mentioned in { J Lr:frﬂrr.r of the .;;r:mtim
3. Use of non-programmable scientific calewlators is allowed
4 Assume suitable data wherever wce.t.mr;r nrr.rf rrmnh‘an il :-fm.rry

PTG tnak
Q.1 Solve Any Two of the following. -.- | 'F'H-‘- h oS A :
A) The populatien of a town for the past nmuus d:u ns gur.:n j:e]uu Est_tr:}a’.c . {:ﬁl [
population afier 3 decades by mthmetln'iq:'réaﬂ' mﬂh:ﬁ:I ﬁ A _'.-'__."h-“'-
Year 1970 IE'EEI x ;—
Population | 50 ' "
in thousands 1 a ; s | i o sty
B) Explain factors art‘::t‘mg [atemqt'ww:rdcmani : = S0 cor (5 6
C) Which are the various wesﬁfqﬂqus: ln_hr:mnsaﬂtm:l da mi co1 6
-: e (g
s s
A Y .“_- ATl gt A - 8
Q2 Saive Any; Two urmg TGS T S
A)  What n:r-: :h: ﬂh]llfi::t_ltﬂﬂ ;f' E:Iﬂtrn?l..pld::ﬁs_g'?ﬁp :'f?fl;ﬂd: aerator”. cO2 [
1) Dﬂﬁlgﬂaﬂﬁjtmr:nlalmﬂ,tﬂnk'fdtrtm h.ﬂnru.rnt'ﬁM m‘ co2
C) Ennqm.m Slow sand rl ll%r-gndﬁﬂppd sand filtes. i co2 6
Lo S CER ST P ESEE, :“‘s’ﬁ;ﬁ
Q. 3 Suln: hn}' T'H-ﬂ uH'hr. l‘ﬂllnwlag {TIF!I:-:N'.'I _-J'H.'r-' & sample instriction)
'A} Expiam dﬂd .!nd s:.rst:m nf wm:r dwtnhmmn with its advantages and C03 b
- ﬁli-ﬂ:ﬂi;ﬁr:lﬂg::s ;--.'.: "T"k A .-"L.":_
: h S ‘H] Fmd ]:ngﬂ: ut‘an :qu:vnlcnt |'.I||;'|{.' j‘ur the pipe network system given below if Ccol &
l 5 cquwalrmt dlam:tcr is 3["3 mrrl Us: Darcy's formula.
T L a._l_..l:nr.tll (m]) Diameter {mm)
; F 300
S G
s 10 200
| =, F:'" Exfiﬂ“‘_‘f"“h d‘ﬂﬂmﬂ combined, gravity and pumping system for supply of o3 6

Ly “-"-'ilEL‘u' ﬁqglymll%.&dmtagns and disadvantages.

L A W S
(] -] ey Ay R 0
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0.4 Solve Any Two of the following.

? i ach C03
A)  Drw wastewater iresment fow slieet and explain the functions of eac .

companent

B) Determine Ultimate BOD for a sewage having 5 day BOD a2
mg/lit. Assume de-oxygenation constant as 0,12 per day,

C)  Enlist various methods used for treatment of solid waste. E?‘F_!i'i“ any anc

0°C as I{H:I r Cﬂ-i 6
Cd &
treatment method in detail. i ;

.5 Solve Any Two of the following. L - S -_ - '. :_- B py )

A} What is Air Pollution? What are the sources ui‘ mrpnllutmn"" gt H!I’Iti“n‘lhﬂr §
e S O Underitand

B) Explain how atmespheric stability chgnﬁﬂi hm:dmu 'r:l:?l:]ﬁm hﬁwﬁm " ' A " Remember
adiabatic lipse rate (ALR) and m.mmm:&mmpsc rate (ELR). - - Understand

|_—\.

C) Enlist various equipment’s us::t ﬁ:r b:'.lnlrl:illmg air pﬁllut-m Eu_pl.am wuh
neat diagram any one aic ppl]imun mr;ﬂ]hﬂshqq!p:nm P -_:_"_;_ Understand

-1 I-\..-\'" i

&7 {*"*End uif-_i : v —._ i _,.' L
4 o

~HRemember ¢

. |
e ﬂ'l—
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Jln]- E‘.s;pl.am lh: mmpm:nl:s of earthen dam and their functions with the help of a ot &
Sl d“m Indaryrand
g EI] < Write 2 short pmr: an follewing failures in earthen dam:-

DR BABASAHER AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
Regular End Semester Examination — Summer 20211

Course: B, Tech. Brunch ¢ Civil Engineering Semester : [V
Subject Code & Name: BTCVO404 Waler Resaurces Enpineering
Max Marks: 60 Date: 24082022 I'.lurnlm:n 3-.-15 ﬂr S
Insfructions o the Studenis: 3

1. Al the questions are compulsory. e ; &,

2 The level of question/expected answer as per E"B.L or Han- E'm.-r_m ﬂ].r_rmm.p ({'ﬂ‘im

wihieh the question i based ermrrarm.u’;.lr f'} mﬁam F_,I'-ﬂlﬂ question.”

-t

3. Use of non-programmabie scientific ;mrurm :_uh'wﬂf g -
4. Axmeme suitable data ufﬁmvarumsdﬂjlﬂ'ﬂdmikm .I'-*riem'{:. :
'_‘-._ “"'5":.'3'.:_-" 98 3 R ’{LE'-'-EL"C{]J Mk
(.1 Solve Any Twa of the Tollowing. _.:" S -"_-:-:_-_?'._:-* .-”.- o 3
A) Explain the different mnhnd&ﬂfdlﬂnbuhnn -ufmb:r ‘.'“ -: I Fﬂ]-r ]
By After how many days will you mpp‘lﬂ-mhr l.nm:-ﬂ in -u:rrder 10 msurr: suﬂ'n:-lml
irrigation of the given crop, if.-" 0 = 2 m s S o F3
(i) Field capacity of the ol =R S T _,-'- B
{iiy Permanent wilting poin= 13T = , FFFe S Pead col o
(i) Dry dﬂ'l-il!}"l}fm‘“ - ] 3 g‘l]'l."l: '::- g gt - -:‘:;'.-'_--'L'..:'I.. ;i Apply

(iv) Effective depth :rfmntm- Fiem - = g
(vi Daly mmplwem: ufml;r.r[nr EI:: L-n'm -:mp = 1" mm
Assume any other: data pobgitem, > O .00 8 g o

C) The pross commanid area for a: mmwgmﬂm hmams. Hn‘!a:. of which is
culturable wngath. 'l'hcmmnrnf m'lg_:l.lm: for Rabi® ﬁr-umj'l iz 50% and that
for Kharif seasonis 25%: If the meragn: “duity af the head Of the distributary s COI ’
2000 hutares.fmmc for R.E.hl -sepson: and <900 - hectaresioumec for Khanf  Apply
season, find out e dmhnrge n:qum:ﬂ.ﬁl ‘131: h:.ad of the distributary from
w-.-ragl.‘ d-l.‘m:mﬂ mﬂmﬂmﬂﬂns _'-::_:.__::- o i

0.2 hlu.ﬂn} Thrn nfﬂu fnl!uwl_ng P
A) Whnt are fhe “different Innr,:t c.r turng;afmmml levels in 2 reservois? Explain ol 6
with the help ofd diagiam.” Dyt
B)  Analyse the Fn’lt:]-umg !'mhm:i m Emﬂw dnm col
© -7-a) By overturning (of rutanuu} ubuul ﬂm |u|: Prsitraeis 6
b} By crushing; {or compression) ¥

- 7 )¢ A proposed reservols has capacity nfﬁl:lﬂ lsa-f1. The catchment area is 125 km1,
.~ and the snriual sireani flow nvmg:s 12 em of runoff If the anaual s:dammt
production is 0.03 ham/km’, what is the probahble life of the reservoir before its
- ‘capacity :is - reduced by 10% of its initial copacity by sedimentation? The coz §
* relationship between trip efficiency 1 (%) Apply
CA <) DA | D02 {l[_ld oo (oos| ol 0203 |05 |07

ﬁﬂ]u o el Rl g7 | 93 |95 |96 | o7

: '.:QJ Eulwﬁnrhunflintl‘nlhwlu.

——

'_‘ ‘. H}"I;lmﬂll:FB.ﬂll!‘t ol P
N ‘E: Seepage Failure Umderstn®d
- Suupmral Failure

F4 19 EASBOGS D001 3623 FRETIDNEDR

-t !
i

e

CE Scanned with OKEN Scanner



0.4
A

B)

<)

o com
What are the assumpions and limitations regarding Kennedy's silt theery? Linelérs tamd
Solve Any Twa of the fullawing,
A cateliment has 6 mingaupe stations. In a year, the annual rainfall recorded by
the pavges nre as follows: :
Rainfall A " 2 2 £ 3T C03
L om26 | ot029 | ises | ne3 | ess | 1367 Apply

For a 10% error in the estimation of mean r:un!':lll .:meI:m: the optimum
numbers of stations in the eatchment,

The ordinates of 3 U1} of & eadchment are given h-a:tmr.-

Titne {lar) ol 3|69z ;5. : l__E a1 |
{ma,f;}u Oy 1o |20] 16 a.z' -'a . .iﬂ 0
Deerive Nood K

: 03
ydrograph at the eatchment m!..ct dur: wa lll:lrl'l'l gu-nn beluw Afgl
Amtume O index i 3 mmvTir and eonstant bage ﬂm'r id m]ﬁ; s : ' Ll

Time (lr} for start of storm 0 _;-._’w '- -45

-_-g. ; T _In i

S ol s

hn-:mnul.lt:-dmmﬁﬂ{:m} E 39 «at'.' .T:{.i.‘ *Il -

i];':l:n the fullowinp mr:lhnd: !.n nnn!yzl: mmﬁu mnrd dsm w::h thc Ju:lp nl‘
I:
a }-hssﬂun'nufmnihll"-' = :'_'E%c.-:: ; -; 3, -‘;. - 1 F o I.!IEEIJHd
b. Hyetograph J_;J' ::T S gy o ;;:' el

P S '"'1' R e o R
Sulve Ay Two of 1I:|E-,fnllu1:ﬂn;:. 42 e ';‘-"-;-
Explain gn:mdwﬂ:r m:wem'.-nrmugﬂmcy 5 Eul.l,. g e T : Coa
Explain Bhgﬁ'u Cr@:fn 'i'lum-_-.-md Ils lrmﬂ.a.llms "EESHq
What mﬂwﬂil.sn :m.u 11I4:meu ufwnH,r]nggmg;; “ 2o

T

=+ W'iﬂ-l'illaﬁmumumml#pﬁnmu

(3 scanned with OKEN Scanner



Y
Ith

C)

0.2
Al
HJ

Dmnnu'n: lhtf df:ﬂlﬁchun el _pl:lll'r'[ E'.,:Lﬁﬂ;hﬂl
] & =

- .\..'
1_E}'l. -

L]

DR BABASAHER AMBEDRAR TECHNOLOGICAL Unive It"il'l ¥, I,{]m W
Regnlar End Semester Examination = Summer 023

Coprse: 1 T, raneh ¢ Civil Ht"ﬂlﬂi[rr o Y

Subject Code & Name: BTCVCID Stractoral Mechanies -1

Max Marks: 60 Date: 2200872022 Darrabion: 1,44 Tir,

Instructions fo the Students; &

All the guestions are conrprlsory, S

Figures to right indicates full marks, T o s

Lise of non-programmabie *""""'"'{ir"'fﬂ"”-‘fﬂtnrﬂ- i uﬂrm'm’ Vol

Assume suitable data wherever m‘t‘mmr}- llrm‘ Mi"r-nl'-l’n.l? 1! I:'ft‘.:.l'ﬂ_} ;
S S fumm:::u Mmku

._|_1" [1= PR,

Solve Any Two of the following, Eri At ol g bl S ;

o o o " . £
_.. _I._.c =S =3 2. g o

State and Explain Moment area theorem” 3_ {. Yeb & pasft A 5 '_" {4 I".'nriwj rI
ol 1-"'-\.1. -'_"-I- EI!:

gl

b s te

-

L,

Find the deflection at free end of cmn]ci*m" ieam s]qwm m ﬁg B l crq-;s ﬁ,nu_T}-\;i;.

o
o W =
o -

-t '_'t\. F 4- e

kS fi
section of beam is 100 mm mdr::md Eﬂummﬂmp mﬂ“]:_i] n .
iyl
2 b I 5,3_:' x -r_'_"-.ﬂq A
s B vl o Lrw‘";_{éfl’._'. P

Fiy 01y P A gl o
Compute the max d-eﬂctj f g'.f "'n .[-ubrh S S o
mn =how Eid e 105 o
b@ mi’l’is‘fql; E=2x10"Mpa Applicstion ¢

.-'-«‘.‘-'

L8
-~

and1=3x 107 mm*‘lﬁq mnjuga,tgh“ummhm% s qh? "‘f..f}‘.‘%‘-#
= 8

L, - ‘I.'
D LT 3, T _‘-::'.13'_._; n.'b'
FI-'-'I"" :wrll-i A AT

- _, b, .-.‘ A oo .
e e M L
Sulre.e’l.nj Twn ul‘t_hr fnlln g_. P gl 'r*-:&:

'1_..
b

D:r';lﬂ:' |h|: ﬁpmamn l'-nﬂ'lm n“:' S i
o due mi:-i'in
s : . Understand

" s
A

.ol fig 3 Application

{-_| h_—_-h.-,. —_— '-_t;_!'h )
A “ PSS p Pt

'mm |

I_:i ply mﬂ:u:rr;n:d En:qm ."I.B u? 5pan B m earries udl of 20 KN/m over the Analysis &
gﬁl I::urd ul‘ I:u:.;m wmg u.u.ug]nm 8 first theorem caleulate

defle
:.pl;m]:] 3mHn m Q l:lm:t:u

;! wn lu-t' the folluwing,

Lastiglians's first theoreyy,
: ;q!: Remember .
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the respecti

nehng o Smoand 7.5 from lef)

MRS,

BY A fixed beam Al of span 15 m two couples 20 KN-m and 30 KN-m,

) Explain the procedure for anatysis of indelerminate beams,

Q4 Solve Any Two of the following,

iy

it &

artd

=W
=

.and di

(Thess, earry over |

e st

A} Define StilTness, relm

..‘_ s
i

I3
(£

Anal

eclion method Analys

0 fig 7 draw  Analys

sribition

g l:g,um w

: dhe frime as ghony

B re

5 kel v
ure for analysis of cont

“Pe teflection meghog

G.86 Kn-m clockw

1) Analyze the beam as shown in figd by moment d

I%

h ﬁ“kill& of  Hynthes

"ilE“d“.
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DR, BABASAHED AMBEDKAR TECHNOLOGICAL ”NWLH‘FHT l-ﬂlm. I-H-'-

Regular End "&-m'il!"ilﬂ"|.Nill‘ll|l!1ll|n||_'-.um“llflulz POR B
Course: B, Tech. Nranch @ Civil '8 s, “.._. St
Subject Code & Name: BTCYVCA03 Structural Mechanies -1 et S o
Max Marks: 60 Date: 22/08/2022 llu : m“n" : 135. "n
[ustructions fo the Studenis: ::._;‘_1 -'_-_-'.i:_.'-. _.'1' ', L* %
)., Allthe questionts are compulsors. A s A H g
3 Figures to right indicates full marks, s .~-.:Z'ﬂ ; w..- P

3 [ee oof nean -prograrmable scienfific :'a.l'cu.ful:rmt i "f-'fmte i ol S
Asseme suitable data wherever necessary, nrm’ mhmm ” ._-]'m H:r S aly =04

Q.1 Sabve Any Two of the following. _,..:_f' .
I S
A} State and Explain Moment area “""'m“‘;:‘-*‘{'
B) Find the deflection at free end of -:mlufmf“!m
o e T
section of beam s 100 mm wide m~1mmm¢¢L kb

Fl': t 13
FAfm B L ’u -:“" £ o : :
C). Oamputc: (36 ek dﬂ"qu -'éfbmﬂ'g Mn g2 Take B2 % 10"Mpa  Application [
SR g o 'ub-f ol oo
apd 1=3x 107 n:lm“';, Uﬁﬂﬂn}a_"gﬂbe‘% & e -Fav..f-:. &
gt

L e L ]

s
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""‘:. e [

i
6
o
fire ™
o |
£
E
E
ok 04
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FoTar
« Flg

e
¥

e
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O
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Wy, E
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4
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L
el
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e
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o - x i -
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X
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'-‘-"h." wl,:mm. Irr -I:H:lj‘u. deflection inethid,

) A fixed beam AB of span 15 m two couples 20 KN-m and 30 KN-m arc Hl‘ll|}'si;| .

acting at Sm amd 75 from left side respectively. Find the fixed end i i
et AT
C} Fxplain the procedure For analysis of indetenminate heams, ' | :_I':Uu""'lllﬂ!lg:. ¢
Q.4 Solve Any Twao of (he Tollowing, A : B :
A} Deline Stiffness, relative stiffoess, carry over factor, and tﬂﬂrlhlrrh‘m I'n::r-r ﬂtmmh—-r S
B)  Analyze the beam ac dhown in fig.d by moment I|l'ill||!|lr[I"r'l'1'l n'IrliirHl ) _.' a'm-lf}-m i i
G wa e L i - .- ,, ‘ =k L
A Ei’" A n' r . ‘, .":.‘.‘-"..,'-;2'.
e ks b T e e o
Rytsy: K SefeCasy?
C) Draw SFD and BMD of frame as ELH:"'.H‘]! L_p I':ig-i tl'.ﬂn '-"T-.lﬁ ﬁﬂ mand'Mﬁ .M.ﬂ'-g._-. ¢
= 6.86 Kn-m clockwise at heam .ﬂ.i;.. ':*.-3:.':}’“:-5?"-{‘ e ot s

Q.5
A) b
f sl A P el B e
_.."J -__._.“‘-'T-‘E,F_-"’_JF,”“"_- w?r: mrllm.l nn:ﬂ}ﬂ the frame a8 shown in fig 7 deaw  Analysis b

-L_j ] :rpl:ur: Ihv: ;pmc'-rdu.m for analysis of continuows beny with sinking of Synthesis ]
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D, DBABASANER A MIEDKAR TECHNOLOGICAL UNIVERS ITY, LONF HE
Hegunlar End Semester Examinadion = Summer 232

Course: B. Teeh, Branch : Civil Engineering - Semester ;s 1y
Subject Code & MName: BTCYVCA01 Ruililing Planning & 'I]:n'winp.
Max Marks: 60 Dhate: 12/08/2022 " Duration: § Jrs, -

Irstraetions fo e Stoadentis: = o S
I. Al the guestions are compulsory., R :
3. The level of guestion’expecled answer as per E'BE .:-r:!rc Conrse EJMmm fr:m on
which the question is based is mentioned fn () ﬁrfm.r:i' bfrire‘qw.mpn e
Use af non-programmable scientific caleulators s allowéd, AR _"

3
4 Asenme suitable data wherever nc'r:.m:-n- und;m:mmu it .t'f.;:nn:-,r : *'.:
oy ;' .'-.---_. '-\.:_ B> :_-ll_".'__ :r‘.. ; . ..:' & i (iﬂ:'l'ﬂl.lrmj Mam

Q.1 Selve Any Two of the following,

A) Exp]nm various pnnm;plcs of Bui Ir]mg I’]'a:f

il T
'1

A) Draw detailed plan and :I:vnhun ul‘ ms:dem ;l

Q.2 Selve Any Two of the fnﬂ-uw_jng. ;
A) Explain concept nfml]unpﬁmaw in ﬂ-&{

Fout ol o P :"’ l._lhuro-\.'ﬁ-_

B) Drw site plan nl'a‘rw.fﬁuusrr:]m:uhct;?

n. - i
"" l"'\-\.'\--_.-'\-\.ﬂ.";_""a-"l'._‘\.-\. i

C) Discuss the pmnns_*. nfb mg occupanc r:E:rtl

L

(COT) 6
(CO1) 6
(CO1} 6

B o K iy
R, i AL o
o '?I a4 ey 1
' 2
ool L%. e
i

'|.'\..|'F"-|"\."'

A) Draw drmnng:‘pla:n nru ]-tsq:lcnnnl h[lﬂdtqﬁ.

LI T

0.3 Euh'c,&n}'mﬂ-h”hl! follow ‘g,. ,_5;..:*5“‘ ,«;“: ;

ilding. (€O
B) mesfclmnaiplm funm&mualbui‘m?-"g:}ir. Aerplumbing fixtures and (o2
il

o L S TRl

L -\."'-\...'

CJ DJE':.‘HSE. F.am w.a.tl:r hanesMh s;.rstr:m in’

- s :\. Fi =1 _.-' _' . ..:' R, B " "- 1-"" -\.lh ."'
k L A :.' & W ke F . i
i, B, 3 - § r ST e !
o A _d: ‘.'. by ._'. ey r.\, o b e .'. .‘_. ._|_".- :

'-Jr*i btrlw M}' Two of th;: fnllnwing,

tail, = (CO2) 6

::l ..

i

ol
E."

!.

Ajn ]'Immss ﬁ:nuLnu:ﬁ: h}'slem amd sn:]ev.:uun criterin. (C02) b
ﬂ} Exiﬂﬂin pﬂnﬁpleg- of a air mmhlmmng (CO2) 5
l';jl Duc:u:.s m:lll-l:rds r-l‘ 'l'l:lfnmnl“.lnsulnunn in buildings. (CO2) s

1-\.- JI.'...'..FI

.--1-"__

; Qu 5 [ !_:nl:re An:.r Twu Eri' lhr: Inll:mm[:
: f. Alq Dm..ush varn;i.aa rm‘:’(:hnrla of noise prevention. (CO3) 2 I
= ,_Bl E’:plnm Ih-r: plmnnm:nnn of reverberation and its sig

.|||_ l-\.

{'3 = nificance in ncoustics.  (C03) 6 .
=) _tllmtss‘vnnnua app]muunns of Green Building, (CO3)
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DL BABASANER AMBEDRAR TECINOLOGICAL UNIVERSITY, LONERE
Itepulur Fml Semester ¥ ssuibnation = Sumneer 222
Course: I, Teeh,  Braneh : Clvil Engineering  Semester : IV

Subjeet Code & Name: BTCVC40G Engincering Geolopy

Max Marks: 60 Drate: 302022 Duaration: 145 Hr,
Instructions to the Stidenis:

1. Al the guestions are comprlsery, .

3 The level of question/expected answer as per {?.‘IF ior J'J'u- Course Outcome fLO) on

wehich the question is based is mentioned int () in front of the q!.rc‘trmn'
Use of mam-programmable sefentific calculaiors | [m.f.fﬂwd' it

3.
4 Assume switable data wherever mecessary. .rmr:' mmfrﬂu it :'.i'mr.n'y
ES g ooy _' ¥ o ': {LE'I-E‘]-II‘CDj T"'Iﬂ'h
Q.1 Sotve Any Two of the following. & &

A) Give applications of Geology in Civil Engmtmmg e ._- 2 ﬂ'*'"ﬂ'i_ y ,';.ﬂi- :
B) Name four physical feamr:safmnhmd:nplamwmn L 'rﬂﬂl.'

!..-.

C) Ew]ﬂmsmlﬂmﬂﬂwrknfrwwlmsm TS SN PR AL /90 |

i

A)
B)

C) Defins Igneous Rock E‘i:il;s cluﬂlfr:atmn mhuw nn '

i, &= .l'h. Lol 1. "\.
et o .-_~ -_._.-\- o, o]
. L)

.3 Solve Any Tm: ﬁl‘ llu Tullming. :

A} Explain the !|::-r|:|.-?r {]utcmp,Emkamid I! Co3

B) Define Fuld Dtsrnbc“hﬂinlu:e& E:,'ncljnc ru'icl? i 'L __;f co3
C) Give lhe ﬂx :mur: r-eqmrmmh al’ guud B\uldtq; Shnt‘? o3
i. Rt -:-u'., -L - -'- 4 :___ Jq‘"" “::.'_":._-‘-‘":
04 Suh-u .uy '.rw ui' ||u !ulluﬁing Pt
A} - Explaim I’rclumu:mr gmtngucul 5um=3.' in ﬂl:tuL co4
B) Give 1.m-in|_15 I';q-.-urahlc dnd uniuvum'l:llﬂ [:m[ngmﬂ] conditions for reservoir COd
2 -EIIZI:' ¢ - =
d Ej G |'|.'|: six Sm,r Impm'-"- mml ls:n:]n:lll]l.l:s Fnr struclures 4% reservotr. Co4

J,.'? 5 & Sulu'-‘.- Ji.h}' Twn nl !Iu: i'ull[m[nh

.L(l ﬂw: Luml:admm of :xplu.mtﬂr}' elrilling method, cod
£ B} Egp&am 15;!::. mre !u:m and core recovery, (&)
'_ & .t.‘j“' WIIIE 3 ahnrt note nn '[:Iﬂ.‘.SI:FFﬂIII:II‘I. of cores, c
' ?L-é:t ;“* ‘H_.h P ": 4 So0 B 4
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DR BARASANER AMBERKAR TECHNOLOGICAL UNIVERSITY, LONERE

Regular il Semester Examilnation — Supmer 1
Course: IL Teeh, Branehi: Multiple Branches

Subject Code & Nome: (RTTIA03) Basie Humag Riphis

Hrmﬁlyr': v

Max Marks: 6 Ihate: 20/M04/203 2 Ihu"nllun:,:. 45 1ir.
Imstructions fo the Stadents: g L "
1. Al the questions are compulsory, o -
2. The level of question‘expected answer as v OB, i fhe Covrte kol :ttr:: i
witich the guestion is hased is mentioned fn { ) in from af the Jjn'm‘iwr .
3 Use of pow-programmable scientific calentatrs is pligwed 7 S e
4 Assume “"’ﬂm'?m“ﬁﬂrﬂwnmuuﬁ mld'pim:mﬂ H:.!r_-.;r.l], i ; !
e ol g *ﬂ““”m-’ “""""
0.1 Solve any One of the following #‘1‘\:"' ,; TS f_'-‘f_.::;'.' A3 ot
o AN A .:'"-":‘-: % i _‘_-__ '. fla
A} Write short notes on: A Fanad 3‘: 12
i:' ]-Ihﬂ}' ;'“i"'"'_‘ﬁn;::_h'{" t':'_.?_ I:__l.—;;;._:.\,-:;-...},:-,;i‘
ii) Equality ol ot AR e s
iif) Fraternity FEL P SOELL IS
B} Write short notes on: el .:"?}1'_5: A A S P 12
DCivilsociety L S ESE SO IS S
i) State SES TSR S e
i) Industeialism and the preséit Sobial 756 (=55 14t
Q.1 Solve any Two of lhﬁnia'h'l j':' ;‘“é’_‘zf'.,w_:'.‘ﬁ.mu_- ¥ :‘f,f"-f':'g :."F_:‘;"' 3
a3 o LA i 'II-.:.- :|.::_|_ HI.-\. .‘.:'l. 'E.I.:Q"I'-'.. -
A) What is the :nnmﬁgmiftihé Fiench Revolitior, do:thé- Hanian igh 6
movemen? S0 T S S S S
B) Explain the folloving ﬁmﬂlﬁ":' SO LycoL 6
i) Interrelati 3 bietwiced 1 ngl;ln et "fﬁi;-.-l;glt."'_ £
i) Commuria] r:-nls']ap-ﬂ iumgzﬂwmbgj’ & vl o "-,1-5:;;*-“1'
€) Elsborate shefollpwin e ‘n} s Lvcor 6
jﬂmﬁﬁmﬁn:‘ . “~5'++a S S e Atk
i) Rural paverty 5 LA S
3 Solve un T-:rpum-.-r l-m-ln SO SS OO
q I o . ‘i."'\. L
Fapk g
A): :n]rwitg‘ht nn lh‘E':i' hhp?mugmﬁ.ﬁ?gc ﬁ"ﬁ LE/COS 6
e o T ey -
B " Ha Wil ;,uﬁmrsm ihe ngmﬁw mengally and physically challenged  LS/COS 6
,._"_-" > pmplc'lzlaﬁpme S L
2 Cj T .Fr::dum Lsﬂ:l.‘sﬂfd nl"lhm:ln sty LSICOS &
uha .-.-'. p..., -\.,._ .,_ r - £ \'.\._.-I_I,. oy
g Q'.-I ﬁln thffp-lhﬂ'l-“_ﬂ’ .-"-"...ﬁ _: -.:r-‘.:_.r-u..-r"‘_'.}
e i e ey R ;
= e .ﬁj I:I:‘n-mrr. the mmnhlrhm of NGOs in India to help peophe el their rights in~ L4AC0M 12
; uy
- 'r: L f‘l'.'ElI'd 'ﬂ'th
"Hr:a} Water
oonnl s ) Forest
japp ik il '.,:}T..nmf
e | ALY Enl‘-‘e nnr'['u'nfd'tht fullowing
g ‘;‘ llﬂumltthrlun '|rr||:l;|l:ui rights in the Constitution of lndia? LYCo3 6
; '~'."
BT LA
“5‘ "::'.-n}q ‘\'-'}mﬁmes dire suggmnl by the Constitution of India? Explain, LuCO} 6
"'{."‘iﬂ ﬁiﬁﬂg‘uﬂ}{r{'—mwnu s provisions in India? L2/CO3 &
E‘t“}' ..;'!:_-.: ".';:,"-,ﬂ;." .q;;.“":“.,::":-.it"~ whh Pl S
FESFII LR
":\':T "E!"é."\l_;.__ .___L\- 'J"_-,:i'.-r_"
o T
OES S
'*";;'”;“‘-_-:‘-’!‘,53‘_.*:5‘5" CSECICCBSOEMDCITFERFIC48 217 TDS
A

e—
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DR, BABASAHER AMBEDKAR TECHNOLOGICAL i NI\-’I-’.H.SI'II“-'. LONERE
Regular End Semester Examination = Summer 2022
Reanch : Computer Engineering! CSE/ CSE(AI&ML)

Conrse: 5.Y I Tech. o Semeiter I"r"
Subject Code & Name: BTCOCA1 (Design and ﬁmlﬂlu of Mgnrithm} '

Max Marks: 60 Date: 1200872022 Ilurulbnn .H‘r Hr.

Instructions fo the Stadents: A ' g

1. All the questions are compulsory. b - .
2 The level of question‘expected anvwer as per ( IBE ¢ ar r.f.m C‘u:rr:nr G‘mmm ﬂ:‘ﬂ,l' on

which the guestion is based is mentioned in {’,.l iu_il'h:rrr nf:!rc :,rrrc.-.lﬂ':m: A

3 Use of non-programmable scientific calgulators is allowed == 7 = : i
4. Assume suitable data wherever nm:::fm}-am.i' m-mﬂrm Ir [:-i'mrf_p o
B Ly {I'-E\'cll'{lﬂ}_' Marks
"-E ¥ -\.‘ = _ : 5 - ..- .'\-' 1
0.1 Solve Any Two of the following & ’ﬁ'q_" ‘;: h-'::“.n:';::' ~'-'_-:!__~.'_:-- _;-Eia b._- e
A) Define Algorithm? State the main thﬁm:t:ﬁ stics ufﬁ!gﬂflﬂim o CKnowladge 6
B} Describe Asymplofic notations 'Mlh dxpres#mn " ;,3:';_:'3;_::"' o “Understand
[ty v -L"'J.t".i‘."..\?--‘:}- oy '\1-. H -
C) Ewvaluate 9T(n/3)+n _;_:ﬂ;.h_;‘m.-_r.kg‘.-j.:‘ P :3,;1- e 8 F"' Evaluation
; I"' “.'\-'.:I«.;.:'-\.l'\- l:-.".:.-hl 5 d-"h:'.- !
0.2 Solve Any Two of the i'ﬂllﬂ'l'rlng. e E-.;-, o, -'~" _5-‘11'-;4 :,,

-\.._-t_... ""'-«.

A) Describe an algorithm Iur‘l‘dirgeﬂ-m nnd ﬁ.nd :Is thuc uumpﬁx-ﬁ}r i " Understand 6
B) Evaluste and write :]:r.-ﬂgunﬂuﬁfnr ch.ksnrt ﬂ-:sm“br: “ifs Best andwm's: case  Evaluation 6

L .-.'.,

with suitable :ump'st - SEE ‘.f— o i_h |.
c @ ?! [l 4]5:.11;; usmg : plmufmn und Calculate  AAnalysis 6
Vs time wmpl:m:,r ¥ ;_= & . 4-_;,_5'::
0.3 Solve AufT!’crufiht I'-nllnw‘ing.»-..ﬁ BE e
A) I:lmu.-h :.mtcipacﬂmt for, ﬁndmg ﬁquum-;ﬂhmlhﬁﬂﬁs Understand 6
B) ﬁpp];r pranch :md hnund lr:nlmiqulz 10 sn-li'c men. u.ﬂmg salesman pmbhml'm‘—-lmah‘\ 6
F8 :~.._-_1-'-,: T 3 .~.::’ £’ z{:- *au m 1 Wl —Y
G e ST ,, 3 5 e 2 4 Y a o
q* A9TE8 @ 3 o~ A
e th:gmph*ﬂimmnm:mf ;1{. “ T 16 ‘\‘”‘"I:;:J'.-.‘;.J"" i
CJ D-Escﬁhl.‘{'rnlph Cﬂ]m]ng le:lr:mwnm suitable example Understand i
Q -1 Sulw: Jlmj' Twn ur tlu: fulluwi:lg
i -A.} Snlvﬁ ﬂic l-m:lu:ml Kuaps:.r:k problem Given n = § objects and a knapsack  Analysis &
‘H ' ._;upmt,rw - 60 pmné (30, 20 ,100,90,160) Weight ={ 5,10,20,30,40)
. 'I."F} ‘.Snl,ycm hpdun:rlllulﬁ'lmnmd: for the Tollowing set of frequencies Analysis i
T x:“‘“ T a 50 bi25 e 15d: 40 e=T5
c]. ﬂul\'e Jnhsqqumﬁngwuhdudhmn—d. p=(100,10,1527) and d Anulysis 6

={E ]: 2:1) :t'md optimal solution

oL

"-'.'_'h. 'hﬁ":-l‘-u.--:"-
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Q.5 Solve Any Twao of the following.

A) Caleulate the shortest path by using Floyd's Warshall Algorithm

4 5
0 m

0
2
o

Y={B,D,CAB,A)

C) Di

2
LS
e
= -

i
el
AR .
i B, P T

L T b oty i A
L i o O I .nq......_
i 1.qu.._,.... n_._... .._“.h...q-.... ..-.._._u.__-...
...-um... ﬂ%_&_ﬂl_ _.__H.- ....__...q.....u._.__- .J... .‘u..q.._.h
it B P P S o oty

o S M
) s PR e e e W B
4 & e Ll bt T Pl L ¥ o
e & .|-__..L._.._..__..._ .-..v...._... -__...._ ..kﬂr u_...._ |_.....u.. ..-.n."..-_,“_hl_ﬁ..m h.“__.._nﬁ..____.._ h.”-_,.m__‘.n..u_..uw..“_.h
B IRl e T e P PRI e Bl T
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SY - Compuder

DR. BABASANER AMBEDKAR TECHINOLOGICAL UNIVERSITY. LONE RE

Regular End Semester Examinntion — Sumimier 203232

COUI¥E By A Oranch : COMPUTER ENGGICSE  Semester AV
Subject Code & Name: RTES40S Digital Logie Design & Microprocessor

plax Marks: ¢ ate: 27/08/2022 Duration: 345 Tir.
Instructions fo the Studens: : 3

1. Al the quesiions are compulory:

2. The level of guestion'expected answer ay per OBE ar r.I .
i mmrr -I'J'w-:-mrr i
witich the guestion fs hased ix mrentiotied in f ) .|'r:_,.l"mrr: af the qmt.rﬂmr ﬁl’ J} rith
3. Use ef non-programmable scie wrific calenlators is alfmwed

| 4. Awmme suitable data wherever MeCeEsary rm:.l"nmumu H:-anfy _ o g
AT tI.wal.-‘Cﬂj Marks
E‘I Solve Any Two of the following, K .‘__:_- L T o F g 1‘ LT A Sl
\Vhat is Signal® Write Characterisiics of Digital Signals. 0 = % R
! ) g o r.illnlﬂlﬂllrlh.. e e __-&nnbjng
B)  Esplain Digital Gate with their types. -Ef."-';-i'r’"‘é’“é'::.:': L I:Inum-.undrn;'
Write shart note on Error Detecting .mfﬂ}rﬁm“ﬂm : “~1*_q L

Q2 Salve Any Two of the followin & -,
A) Explain the working of Mu'lnpltnr qu ].]-r-l'iri;:'lth‘.llr:::.r

] Write and explain with l-'ﬂ'lnplt [I-nu‘t “Hl!ﬂnl;itm; £ 1-_- 5 :"'
Cu g e o Q’;;'-_u._:,: A
Minimize the 'I'nr—ﬂﬂ.l,u‘hhzﬁ.f“ﬂﬁ uﬂug I:dm ["- il c:;_ e r:_xlﬁ._h i

""‘-'u-""' v _‘;|
-
o
.-

h e 12
Saas ﬂlﬁl#rﬂ:ndm; .

=,
T -."'-"
i,
e

5
[ fABCI) = Tmid, f 3 3 5 ':I' Bl(!.;u;uj

"
‘a -:.- =,

| .5"'._-\_ ATy "‘.- oy
— o ,*_-h A A e _,_‘_{'_;,.1 ]

v

-, A %g-’ah?:@' A A
3 Solve .hnfTwncnl't'h:fnlmnhg}} e.f'?“-hf-‘*‘lh '
] Tl o Py g i) i 2 .
Design 3-bit synehroncus np m-.mfér uﬂnﬂ .H{ I'Iijrlﬂpf[:j_:‘ﬁ; ' Applying

Convert S-R'FLfI?-FLtJ? T0 4% K Fi.ﬂ'ufm phst e Applyi
TEE S pplying

e

'l."."rijlt Elnd -El]:ll.lll :n}:{fu}irp_l‘_llml:uupf n.[p-m]_? L Understanding

s
i 3
= ® 0 AT
O T, L r_"l. -:'_—"I".-'_ 3 B P '1'
Sl 3

.-
]

12

- 1 L
e '-.-"'-\.I_\,—"""

ot . a4
gt e b e e SR, .-,_'-' ]

Eu]v: MrTn-unrihtTmluw!ug,n AR :

"3'3""7'I""""i!""Il ﬂls~~'l='il {“H!i lﬁ-'hi! {sm;_l ﬁ u bt mcapeocessurs
{Hlflﬂﬂﬁ:r S T ST Understanding

I::I-rnﬂ' m:ld t::pTlln i-lﬂ!fﬁ Euu:rnﬂ ﬂlﬂﬂ[.“::ﬁ'-lm

"'\.

}l-’nlc ﬂmrt IIHE nl Mtrl'l-ﬂq.- < ".'-

12

Understanding i
Understanding

Eul;!: .*mj' T'_wq ul‘tl:l: fu.nlhw[nu. !
A 12

'._ Explngn !]ll'l'ﬂ‘eit Iﬂm l:rfAl:Idrmlng modes of HO8G, Analyzing

"-E'-”rilt ﬂll'ftrml ﬁ.ugﬂn, f
3 .=-. -1511. f i ﬁi: . hﬂul er instructions, Analyziog
L) &8 o iItI tlﬂl ﬂ|lﬂfn .nﬂ‘
.:l_.-}-\. :\_\;. I’-\?\.‘l}_‘-_‘_\’ .\:h r -_-m EIJITIF"I'I'I‘H u.dml'ndi.g

- F T I
Pl e A T
R "-\-Ae-"'L':.'l- St gl Eﬂd o
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DIL BABASAINLER AMBEDKAR TECHNOLOGICAL UNI‘U'I'"IHH Y, ],{]N[‘,“F
Hegular End Semester [ xsminstion — Sumimer 2&11 ‘._— T _:

Course: B. Tech, Branch: Compuler Engincering "w-:rumnler,]'lf 5 "ty : '; A
Subject Code & Name: BTCOCH02 & Operating Systems - | .'1 D '. '.;'-'_;
Max Marks: 60 Date: 18M8/2022 -!:'"rlltlinl_ri: 345 .- W g
Tnstructions to the Students: "1:'._. f R :'..'- g { et

1. All the questions are compulsory. T
2 ]r]l:“-,ﬂn-r.r.::_,P'qwmr:-nw;rﬂrrhmm-rrm_nrr r}nL f.-rm._- G ﬂu;‘-.,m .I.-;-_q]g Fi o

an which the guestion is baed is mentioned in ” ﬂ}‘ﬁ-ﬂh[_‘.’rﬂﬂ qrm-rmu AT
3 Use of non-programmable scientific calenliors’ l"l':_tlffmrm, Tt S S
4 Assume suitable data wherever necessary aitd T;;ﬂmgmm.}c}, AT A

: i ."I S - ."-:;.'_'I _.-'r._'. ':'_.'_'
"""_ ‘*- o a"'n_ e 'l:"“u, -.'"ﬂ“":;::'s.-_'.’-;;_ﬂ-ﬂ'ﬁ'ﬂ!}'_'_ .ﬂhﬂu
%] Jl! -\.:r -\."-' :"-":" i --:.
Q.1 Solve Any Twao of the ruﬂnwins Wﬁﬁf!!““*“%¢ i "Eﬁ}“"f R
,..__.l-'.. B e, 1"..;_Li'_. i
L K 'l"} o
) Define  viual machine with st dizgs Dsetios Vi Soncept and 7 )
working of JVM, Explain what are ﬂif ﬁmﬂ'ﬂ@f{ﬂ ?Mﬁ ."":':1?:‘ *&1—51‘;':?:1‘7:1'&‘
Rl e xS o < “'_-':. o
B) What is the purpose of tmnnwfﬁf,qi ﬂéﬂﬂf Why, f{fm““ﬁfﬁﬂﬁ_ ) 6
; ey T o hﬂ.- oA ey
from the Kemel? -iflqu”h{'ﬁ.'a"“’:ﬁ? o i A S a.
Ly s .
) Describe major activities q{ig‘nﬁ@l;g ﬁ
AT L
1} Process managemeni = L'?ai;;-_'-?-_'.!{ﬂ“ b
Ir;"-\. 'h"\.l.-' ==l e
2) File management: == -4) Seboridar
SRR SRS
. L L R S T
ol LG S |.:'h L d _ﬁ_-':'. iy "é.
Q.2 Salve Any Two.of (he fol ing L5 15,
b A
A) Consider lhﬂ wing datay !ih_fll;%ﬁgf
o e e T A A S
Process &5 o oo T Abrst Timie o A
SRS S S TEEET
Pl L ;.:. r\..:-... -\.-"' "'__'r:r l-':h'l—"‘r"-l. I_\..\.n. s
SIS v“;‘-‘s??*‘ CAELARY,
Pl ST T S S g S e T
Ford gl g LSS 0 A
-;!'P N e LR '7__--_'-_-:? ‘Ei‘hﬂ?ﬂlﬁ‘_\r-!ﬂ:" g_L aghy . I8
(o P oy s "q'_"" e "1:':.-:- e el {..';-'
g ":.' g4 ot o -??,_,.‘v-r\.'_"htf}h ':_,.
'\-..‘-‘E‘q P e S f-b{- L': S "".;'_._b:t- 't
TR S AL O L L T
P g ® S o A‘."‘"-’_- = 'l.l'," "'-'L..:'l‘-"'l-'
Lo PO L e T A e O G B
ST G LSS S S S T S
P Tares 10 prpc;gs_ q:;jw;:xy%:ﬂgé prde?fJfPE,l‘E, P4,P5,
e T ey o AT A A A R
L :_ﬂ. "'-I}wa‘m:rtt ;.T:-q-: ﬁ:u,' rr@”‘mm:tmn of mue processes using FCFS,
'a r':"'_l: Lo "'i"" o R N p"".h—'\-\. -I':-II-*" H
:.":-.."_';;'*' .;-e; ISH‘ “"]"_F',“’“L."E“,“i_'@ l‘nn-nrrmd RR (quantum=2) scheduling,
_;':F{‘: ‘*\ ".H?a-'&r‘ufh:_q is _J;I.T[Ejith;imd hma‘: azu:l waiting time of each process for each
it =g : i
,’-ﬂ__h"_.;i' s a*gfihtﬁhmulingalgunlhm
LR el el
.:;EEE:L JE; Ly Eu-u]:&nlmgﬁtu:m? Deseribe the mechanism of inter process ) b
: ;;u fyﬂ“ﬂm’ﬁi‘“"w&ﬂ shared memory and massage passing
L .-_"'.
h._‘.h-:t:ipr ;h _‘L_niuillﬂ‘wmg jabs arrive for pml:cssmg at the times indicated, (3) 6

I '}"“-LU il -'.
- f,ﬁ‘ﬁ-ftgr;‘]g +w1 I'nin the listed amount of time.
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Job armval ime st time

1 oo g A
2 04 1 s
LI | A e S 1 e
) Give n Gantt chart illustrating the exceution of thése jobs uﬁing A
the non- precmptive FCFS and S1F scheduling ﬂFE”"“‘“' o
i) What is turnaround time and waiting time; ",’r ':a“ﬁ-i“h I'qr e 5
above algorithms? I LL:.H:HQZF_'}H_ -- PR E
_-"___'- o o ;"_L o AR 1
[ e L e us *.""_._.__
Q.3 Solve Any Two of the following. (This is jist ﬂﬁ;ﬂ*{-{{f; T‘_"j‘.?id,‘“!’f’ o A
ot ) e

A)  Examine banker's algoriihm afler upplymg“l}.-ih‘: Eﬁ}@& J.-.ﬁ}"-’“ iF"':E""‘; -E-?
= Nl B S e
system has 5 processes, Pl, P2, Pl,ﬁl’ﬁ rmm;j Ff_: ﬁ#,i“ﬁﬁi@‘*??fé-;gié'-}::i. :
o T e
ufnmd:i BERl ,:ﬁ;m. ances of R2 7 7

resources R1, R2 and R3, there m}Q, ;
.-lh’ +‘i‘ r'-r"'."'l'ia..I 3 = _1.
Sl P S T -
and 7 instonces of B3, AL time Tllwﬁqnélﬁﬂﬂzr: I,i.‘-ai iﬁ' .;_*‘“.g.‘, o -%}_‘—_:_“*.3—_;‘1: i
A e A L T iy
Process  Allocation @!ﬁg@i_ﬁ'&'ﬂﬂ;{-_ﬁ?{-ﬁﬁhh -.:'-_J-“{..,_": l:..-,:‘.':.,fﬁ'_i.
S ol ol Sl U, s ot o bl et
o W L '.--1“__.“‘__ o E e '\1..\- _'--l\_}_l_
RIR2R3 ET;H,%:R?-’% S L
ke O e B T A
v i -g' Pl IV Y f......-_l._"l' ey l,_.;'l_.-,'."_."_.-'
¥ g e

P s
Pl 01 0 &40 st ol L
e e‘h‘»‘#a*m@"’nﬁ' EFd TS AT
P2 20 0 @il s rced pad Tl
P rJF L 1.-..L -*F_ﬁp--?!-;q-g_ﬁ-."'f'.-

Pl .LF-E.;Q&{'?E'P q:bll".ﬂﬁ—..i ’ T-"t';. {' 5 -\.;.::\- o i;:‘
e LS sl -
|;\1_'£_. L '_--‘-" -'-LU{—-""\:'-::. F.';'I-In.h. |-::;-: e ﬂ:' o ?'::
k) k,g&%ﬁ;ﬁ. - Sale Mpe i -ﬁq;ég f!") vation? Describe resource allo- (2) f
"1.':-"" 5 ::,-':_l' o o -5 _l"l" = .'r'a-n- e .'l.h' o
P :‘b".if ".r.g?‘.‘-t:!]- ‘tﬂﬁ!ah@ﬁ%ﬂﬂ:ﬁ :5}11 :,.ig.inrmc allocation graph with a
..«;,;4,-:'. le it badicadlock LN S SES
il 1,.5.[:'-4.:. bl A
\ ﬂnm:lht"l.hc bmm biifler-f!
:lﬂ} geballe - m{]untr-d;‘unsumrr problem and pive a salu- (2) b

Wl'lll: l]ae structure of Producer and

ey - '\. -
.ﬂ." " '_“-'.-" o O L x
&, i _; i o -1._‘:{__:!. . "-\-.F'ﬂ,..h..-".'ﬂ'-"'ﬁ':_.-:r- A f

g F,lf‘ 4‘ .ﬁ.ﬁvt.ﬁnjrﬂ"ﬂn?l' ![III: J’ul!:mmh (This Is fust @ xample instruction)
_5:.“ o t,.'i.] EIY"-':'I'H‘.IEIEH:IF:."]MFIHIHIE of 150 K, 250 K, 500 K, 300 K and 600 K (in or- (3) i
ke "‘-"' SHrtl gl
'}t‘::‘"h{_.-,n 1'_-'::':_?“! ?_Eﬁl‘_"" Hﬂ{ﬂﬂ hilL];‘ of the first-fit, best-fit und worst-fiy alporithms alio.
o o -
,’?:‘5{::-;& Ay tc‘ﬁﬂttgmﬁ uf.EHI{ 417K, 112K and 426 K (in order)? Which algo-
iy e A ':‘ ""--\. ".'1.
“{}{‘i‘.;&;{aﬂé 9 I" |‘j11 i!g':mnslcmm:ntu:cni' memory?
ks Lo ol r.. -.-..-'.. -.
R g ) oy A -.-_-',.!:“ S
T SN
FTN A
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1234215621 2.3.7,6,3,2,1,2.3.6
Find out the number of page faults if there are 3 page frames, using the
following page replaccment algorithm i) LR i) FIFO i) li_ipl_im:'n :

C) Deseribe the action taken by the operating system when a page Tault occues ) 2

with neat diagram.

i 5

lowing. (This is fust ﬂ'mn,rﬂ'r nmrn:r&mi

mntlmds., :'Llscr ::phm th: mtﬂmd; l:bf g v | T

Deseribe the Jifferent file allocation
Lementation with merits and demerits. ;’f‘. 34 L . ,, ) FU e .-

file imp e S
B) Suppose thata digk drive has 3000 cylmdm ngmbmd o h: 4999 tI-ue dm.e = _i‘,-'t_':r | 6
currently services a request at c}"tmd:ﬂl{H! md 111: rrn‘-'-'mus uq“ m ‘1‘“ <7,

at cylinder 1223. the queus of pmd:ng mqu::st m HF!‘J _urdn.r._ns 4?’_& '*l4‘.rﬂ, &
913, 1774, 948, 1509, 1022, ]‘.i'Sﬂ.JEIl ﬁtamng frum the current Emnm, e
tal distance |[|n c_;flmdm}lhal ‘IQe d15k'arm :rhn'u_reﬂq ?.ahﬁﬁ.r all-
r,-.h n'f 'r.ha I'ulin-mng nlg{mhms il FE.FS ﬂj ”SEFI‘-uﬂ

l-\.-\.l'|

0.5
A)

-._1- Vs

what is the to
pending requests, for ea

Tk -._ o
LN g oy
o, =
SCAN iv) LOOK v) € CJSCMF 2
‘u T :
Imwm mmanhg: _tﬁ‘_m‘ i
C) I}mnbc l:-=]:lﬂ pil ey
A ol il '-'. &
. T 1.\, |"'H. I-\. '._ L -."'.-\.-;l-_ J
s, g En
.."',' . e _'. ey g ﬂi.if_ a®
e, e Pt it _.-_:-.l__ o A
5 g [ el n P LR
SR R T o S, Rl L L
= P s AT ol
X e AN - M o
gt ral e - FL i,
., 4 ¥ A T
e I, B e
- ey C T AT e e g T PN g
‘-l . LS .l.- FlI L
= fay. Ak Lo - el i A
L il - ! [
o " . O 4 o -:_.L-_|
b - - P,
e ol 5 y et T o ke
= i -k | ol s T Al
: A i g Ll S e
- T 1 o r o iy R
o e ot B Ly s ¥ . AT
= - e o, ug I TR e T
I N Lo - " iy e O
= 0 ) v e e Bt e i
o e g iy : 4 s B
i e 7 T N A et ey B g
Y L =& L - j oy % .:
b P L T i HC LR BV Pl T
¥ TP e b Aty g b i ol g T A Y
e LI E e ol L o
= 1ot = P T B L = o R
R s i A i 0 - 4 ' T
-t ity \ L%, o
] i - e N O P YT b
-\. '-|1 'I".__:_ L Tt T Sy r i i
L ) ;
v 5 ' ¥ i el
I.\. u_ T . "hl i
. -t - .
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DR. BABASAHEB AMBEDKAR TECHNOLOGICAL UNIVERSITY,
LONERE-RAIGAD-402103

summer Semester Examination, 2022
B.Tech. Computer Engineering JCSE/ ESE{AI&ML]
semester: IV Max. Marks: 60 . - Yt
subject: Probability Theory & Randnm Prn:essesfpmh,—,h,"w

and Statistics [BTBSA04] oo
Date: 24/08/2022 Serdenasd Timie: 3.45 Hrs
Instructions to the Student: e 1 h ) S ' a
1. Each guestion carries 12 mnrks g e A
2. All Questions are l:mpul;nr-,- S .f;'_;' el < h e

3. lllustrate your answers 'mth. n-eat ﬂr.etn:‘hes :I'E_lgram Etl: wh erever necess-ar','
4. If some pare or parameter is ntlll‘l.'.l'.!d to tl-E mu;ﬂng. ?ﬂu ma',.- appruprlatel-.- assume it and

should mention it clearly. . :ﬂ"_. -"_-1;;. "_ ol ..“?f _:-_J --'.'-. ek
: ; A __“j : {- -_,_'-..-""-_:‘._-{J__-' Pt s Marks
Que: 1 Attempt anrﬂ'-’ﬂufthefn!luwmg quaﬁr.mns » _:‘:,,"_'._“-C;-_"«:'_,J o [12]

Ali) What is -:he ch.a-nu:e :hat a nnn Ieap -.-q-arﬂ;uu’rd haueﬁﬁ}l tﬂree Sundays?
] :- i i -q,

i) Urn A mntams 2. r:d' .:md 3 whlte memnrllr chms‘; IHE"um B contains 2 red and 6 white

memaory :I-ﬂps Ifa -Ehlp is :lrau.rn {rdm Each hnx whut I5 lhe pml:m bility that they are both of the
same cul::ur? _-~’:_=- ﬂ' ; = ..-"' Sl S8

':'. i ._.-..-' l:'- "' -'.-' Ty
Bl & mmml:_tee u.f g per;uns isto he appumted fn:rn 3 officers of the production department, 4
officers of the: pun.hase dt-parlrntnl. 2 nfﬁ-r:ets ni the sales department and 1 chartered

acmuntaﬂt le:l th-E prubablllwu-f L‘ne mmm[tree in the foliowing manner;

.\..-\.

thr:rn must be i:une i'n:rm eafh r.'aregm’-r

i should have at least une from thn! purchase department.

ill) The chartered a:mumant mu 51; be in the committee
c] I a certain college 25% of hu'g'-_: and 10% of girls are studying mathematics. The girls
constitule 60X of the EFudEHL“. If a student is selected at randam and is found to be studying
mathematics, find the probability that the student is a (i} girl and (i) a boy.

Clupes; 2 F-_J_[l:mpl any thl- of the following questions. [12]

#]1] & continuous random variable has the probability density function 72D g

¥ '_2_4-_'\_;' 09374 | FEASBIGE D003 693 FIGT IS0
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_ fke x>0
¥j=
fix) [ﬂ' eleewhere
Determine the constant & &,

43

ii) Obtain the probability distribution of ¥, the number of headi in lhre& Tﬂﬂﬂ “' i‘ “"“ '“"W

.'-\1.'

find the expected number of heads appearing when a fair o |3 tosséd three

- ""‘ .H.

‘-.

B] Fit a Binomial distribution to the following nheaemt[ﬂn

:~.---

"lJ-

B

,__.

. |

- -\." AR

III'HH

1]

1

X
f

2

1M

99.5 kg (Given: A(2) = D.4772 J{I]

X

:F“'

Cue: 3 Attemnpt the following ﬂnufsﬂg

f

r'r?
':‘-h.

A] From the fellowing data ﬂb:u,’f#fﬁ

¥

| 11.

-F'i‘

l;\-...-\..- '!Silf"ﬁl‘

Arithmetic means a[mﬁ_gu x*;urm“sgrgrﬁ_-_‘anﬁs
S‘F T
a]wnmnherulmmg‘i bl

-|.

i "1 |_l.-

qum;

Pt

"h.

.\-,.p-i

A8 & -EE‘* *-.“ 4

I:F“-e":'d'g*

#r“m‘*‘es’ﬁ: fw

RS

4 -
65

-‘H:-‘f

a7

13 ."\-" -\.-1 I-E'd'-l.#_‘i .Erl-.\. I

T

R, =
-::‘:"—"’-':;-h'ﬂ-\.'i'l
ﬁ-:‘:{‘. [

[12]

1-‘| 438 fin] .':“'L_H_-"':"

10

4

A

5

-_. e T y
_1__ o ‘n.-n.__i" g _l. It

.-|

H] :he :qua:inn of lﬁﬁllnet am‘h =E=3)2x=08-3y g2y ms

e
(7] i r'- -.2

-_- Al&u;nb{am anﬁﬂm:[@uﬁ '-'{hlrh sﬁ;r;rld COFres

pand on the average to ¥ =

Ihf ﬂwan ".ri!TulHﬂ:!l X nnﬂ’ 'y' Hnd“ the value of correlation coefficient,

Ly
'5: S

*\.r.‘:-

]
T

Umphl:lrl- n!’randurrr throwing, da the data Ind;

W1mmmzmmm

8
?
=

cate an unbiased dia?
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SY-Cempuler
DR, BABASAHER AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

Regular End Semester Examination = Summer 2022

Course: B, Tech, Branch : COMPUTER ENGGICSE Semester (1Y
Subject Code & Name: BTES405 Digital Logic Design & Micraprocessar
Max Marks: G0 Date: 27/M82022 Dunrpdion: 3,45 Hr.

Jnstructions o the Stadents:
1. Al the guestions are compuilzory, _
The level of questiondexpected answer as per ORE ar the Conrse Outcomie (00 on
which the question i based is mentioned fn () in front of the guestion,
3 Use of mon-programmable scientifie calculators is allowed. ;

L]

4 Assume suitable dita wherever necessary and mentlon if clearfy. _
LR < (LevellCO)  Marks
Q.1  Selve Any Twa of the following. % : x.. Ay e 5 . 7. i
A)  Whatis Signal? Wrile Characteristics "m"{'“' h!‘"‘.‘” v i s S
B) Explain Digital Gate with their types. g a _.-__.~L._ - a -_,_.‘.,qﬁ,ﬁ“_mun

) Write short note on Error Dﬂcﬂh: amﬂ Cnrrerling cm e :a_ﬁfu_iyifng':‘--'

N 3
=

Q2 & gl by 12
A LU Uniderstanding
B Write and explain with e::nmplu Dmt't mrc ﬂlﬂl:ll-!lh! ='x._: . Applying
Minimize the fﬂurwlﬁ!bh ll}gls: I'im:thn !;Iug k-n;E:p_ o _’
<) I i S T Applving
ABCD) =T, 1 13,5,7,8,9,11,14 o
- .‘_-Z _.hrll_':i"-::'-_-?- _';-F-:-":'_-.L'-'-_-_:_'_:" H:__ _i:h:‘:, - i
Q.3 Solve Any Two nflhl! .‘l'l|l1lr.‘e-'l-'l'ingd Pl j- :::a.:::‘- -.I:';.- H § 12
Ad Design 3-bit :.31H:I:ruumn hrl qnnut:r'-usmg.lli ]'I.I ‘!'Iu Applying
B)  Convert s-n FLIP- FLOPTO 3K FL}? rmr- S Applying
C) “’le nui :rp!.-uu nn'_lr lm;:zhpplﬁl:mm ﬂilﬂ:p—ﬂnql 2 Understanding
S s ;_,_ .~_-f__-__~ A
(4 E-uhu M} '}'wu I;l”.hl lulluu-mg £ '. ‘_ : 5‘_-1' 12
A): :' Cﬂﬂlp:l:l’]!-llf]]. nl'! hllllfﬂ[ltli} !ﬁ-'LIiI: {HHHE} ﬂnllﬂ-lni miferoprocessors Undersanding
™ i IHMM] ..~_ _.-I ¥ ._1 -.._. r-" P ._
','-"J‘_'__-'“_ -Ilrw nud tsp]:in m:un lnlcmu'l Iiﬂuﬂi 'I}Ia;r:m Understanding
;l C} '\‘. nt{: shnrl nn-tr. on Hrmul}' Understanding
U‘ 5 5011-h'|.|1}" T‘Hﬂ nl i,hr: I'ulhmlllj..- 12
2 1 f-fr'hll ﬂHﬁ'rml q'penfaﬂllmsmn madles of SO8G, Aunalyzing
’H;l "-.J'i-‘u"rilrt um‘.,mumu transfer instruetions, Amalyzing
h E]I o -*':'F'u?'rlte short nn{c un ;‘..m,mhlt-n and compillers Understanding
i -.-‘-,.",__']'h_a'}:"h :E."I-:_'L_:__'I ""' ,-'. ‘_. Wi Pl #
S A g R G LAY
A
gLt BT
o T A
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0.1
A)

B)

.ﬂ;_'_af

=)
B

S2Ys blrrtmert]

DI BABASAUER AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
Repular Semester Exnmination - Summer 2022

Coursc: Ik Tech, Branch ; Electrical Enginecring "-:mﬂlcr v
Subject Code & Name: RTEEPE40SD Electronics Devices and [.'irn:uil'i ;
Max Marks: 60 Diate: 27/08/2022 _ I.Iurnllun 345 Trs.
Tnstructions fo the Stndenix: Sy

1, Al the gwestions are compulsory. T
2. The level af question ‘expacted annwer as per ﬂﬂf |'.l_|" .I'.r?-l: l'.:'ﬁm"rt' ﬂ-ril‘l:'q:rmf fﬂ'ﬂ}uﬂ

which the question is based is merfioned in ). m_frwarﬂ-ja'he qr.lt."r.!r-:l.r.l. e o
3. Use of non-programmable selentiffe cﬂfnu'a!qr; i g;:awm‘ ¥ e A -_ -
4. Assume suitable data wherever necessary a.-rd' .-mrmmn :.r ;Fmrrg.- T o
S LT £ _', e Marks
Solve Any Two of the following. i Ji"“_h“__ i : _h 3 :'h;' = E
Compare Common Emitter, Common Ba\se and Cummun Gui]:n[ur ﬁ:hnﬂglntlun uf ﬂrr o
Tl Al A o
with reference to following point. .,'.-;_j‘:_-“',-;.* o q* sy e o = 4 .:~ % R ﬂ-*_-h;;f__j.__..:
i) Input Impedance i) E.‘urmn gam- ;--_“3 m] "-"atmgt gam et
z ‘v"*'t S A {"n.-‘-f

iv) Phase shift between input md wtputsnmwl-_-._ ni } ‘n; m.--,;-. 7

{

What &5 biasing? Why b:asmg 1.: mqutr:ﬂ fﬂfthmﬁlﬂ-ﬁl‘? IL15.'E b:asmg ‘ml:thnds for &
transistor. Draw and i:::plam Llu: tamurf“nh D]ligl: :Ilwdqﬁb:as:nb ' '~ I;2'

s

'ﬂl:fm: !'n'llw.rmg!ﬂmu :" ?.J _:' -"'. a- '. : LI' i
u.}l D:mﬁrmc‘ Dd':lll'l Rr:srst::n:: h‘,| Anmhl’mtmn Fﬂcmr ¢} Pinched off voltage
E:.']':Imn w::rtmg P‘nm:!p]t nl‘l,dmn-:enwm t}rpc M{JSFJ:'T (n-channel). [

'En!lw: ..ﬂmgf T‘nu I‘.'I'f'“I: fullﬂwlrlg e

'F'.q;p]mn uasm p-nwcr ;lmphl'c[ ﬂl.rcu:l wuln autpul charscteristics showing Q point, (7
th J:].::lt d:jngrmn cn'pl:uu I:'hr. wm'kluj, nrl'ush Pull Class I Power Amplifier.

'lr"-".lul. is, E‘mss r:m.r I:hsluniun'? Hm.h' it can be climinated.

F r
. _.-_ HE
-

2 -."mhe Any Twu nﬁlln ﬁrilum,lg.
j.:_:E:kn.':l.:h “H! htur.k dmgmm of @ Teedback amplifier and derive the expression for gain with i

pﬂm“"-"ﬂ fn::dh:lgl u'|:||:] ‘with negative feedbuck.
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Follower.

.5 Solve Any Two of the following.

oscillator.

A) State Barkhausen Criterion for oscillations. Expla
B) Discuss the worki

-

le of Wein bridge osc

I princip

llator=ar

frequency of oscillations.

Ty

istorized shunt regulator.
D} Explain the pin configuration of IC-555, al

vibrator using 1C-555.

LEx1

Lol

......___

1l

i

i

il

(1
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DR. BABASAHER AMBEDKAR TECHNOLOGICAL UNIVERS IT':" LI‘JN FRE
Regular End Semester Examination — Summer 2022

Course: B. Tech Branch: Electrical Engineering and Allied nm.'.'ﬂ.._.g IEBm:. n.;- il !
Subject Code & Name: BTEEC401 mm,,,k T,Lmr}, $Fe o

Max hMarks: 60 Date:- 12708/2022 - Dllrllmn. 145 ]|r‘ gt

!':m'nm;'mm fo the Students: 4 Pyl A R

I. Al the questions are compulsory.
2. The level of question/expected answer as per GBE {1" :.Jng :‘j‘a q-r.w

3. Use of non-programmable scientific cdcmmm iy m’imum* gl
4, Axswme sultable data wherever rm:c.r.mry urm’ _n r.:.rmmgf r.r c.‘t*m-! _|.J.

2. Umilateral and bilateral ﬂlm;;nr; {,_

L1l i i Tl
i '-\. i 3 . 7
oy i iy ey

Dn'.l'mmr E' T o A
which the question is based is mentioned in _{j mfrq.lu ﬂfl'hr." qaggﬂ.;m 'I'r J b

-J- ﬁl “' : - 1 . o A Ll . ; ..
C) Explain two types u[‘:n%fgy mqme; 15_ hetween jdeal and o g al  Understand/ 6
'T""'.ll"----Illl.r_-hh:a'-{:-h ot o i h
SOUrces. _ $.,;: FL s : Analysis
A ks T SR
_,I::E- ,’- Y ﬁ.‘;'—} "f.‘?h
Q.2 Solve Any Twn:E!‘th:ﬁll 'i g_*'
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- Understand
‘Understand
E#n!ﬁalidn.

A} Explain first order and second order RC and RL circuit.

) Lxplain various properties of o capacitor,
C)  Aninduetor with initial current Iy s connected to a resistor of i ohms at
t= 0, Derive the expression for the eurrent through inductor and voltage

T

across inductor at any time £ >0,

Q4 Solve Any Two of the following. o :
A} Derive the symimetry and reciprocity condition of 1-[m.mn’ml:::n; A ; _+ Evaluation
B) Explain Z-Parameters in terms of T-pummnmr-i: h—pﬂt‘ﬂmﬂm - _ U“mm

€}  In following figure the switch K is kept first at p-:mucun I! and Ettﬁd}'._ﬂ-ﬂ-!ﬂ -
condition iz reached, At =0, the switch is mmr:d 1o pm:uun 2 Fmd tlm- = L.

5 "‘:1-.\,.-

current in both the cases. -y
1053 1

.,
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J» M o, g, o e
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L ] .\"'\-' r 1

B) Derive the r:.xm‘::ssin-n i"nr I} i‘n:lur nl‘pmllel n-.unnm ng y'
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DR BABASAHER AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
. Repular End Semesfer Examination = Summer 2022
Conrse: 8Y B. Tech.,  Branch : Electrical Engincering & Allicd Branches
Subject Code & Name: BTEEC403 &  Electrical Machine-11 -~ Semester : [V
BMax Marks: 60 Iaie: 22-08-2022 y - !lur:llh_rl: 345 He

" Instructions ta the Students:
I All the guestions are compnlsory. : .
2 The level of question’expected answer as per ﬂﬂ,ﬂ. o ,-.rm (:;m_,.-_.,{. ﬂ",mw (€0} on

which the question is based is memioned in () fu_ﬁ‘ﬂm o the qr.raﬁ'.:.{mn
3. Use of row-programmable scientific a:‘a."ee-dmafr.;' is.alfowed.
4 Assume suitable data wherever m:cmrj*ﬂm! nrmr.rmu fr: .:.'r.-ar{,-,r - i

STEE i LR S {mum) “Marks
Q.1 Solve Any Two of the following. £¥4 il T b T 1_ el N J.a-: :

With neat sketches discuss. the cun:h-unglun“ufa I-plmse tuductu:rn mﬁmr & Um:lerst:md i

A)
B) Show by Mathematically and Wr.:mnalt}i' e thm-: p;has: mch.pg a "?,6.‘ ._], 6
rotating magnetic field is produced whm“snpplmﬂ with three lemq: 'iuppl:.r PPy
C) Discuss a brief note on EﬂIISIJ'LH:iIﬂLl n[ E mc:h;mmus _ﬂ'lﬂch'n.ﬁ' £ ‘LI B 6
Q.2 Solve Any Two of the I‘ulluwing _ :
A) With neat sketches gwe & bne‘f nme nn “I]érmam::g dn; ator- Yooy ' 3 6
give a reduction n:mndu:s f‘ {. F .. % 1 e~
B} Memorize the fni!u-wiuﬂwmdmgtemunuhgm& e :.-:_-_ J ] 6

ii. Ful[ F:Idl an::lshurt ]'.I!lh'.‘h ﬂ.rjm;lmg \

o -
' ""H. '\-\."'-"

fid, - ‘ﬂnncenmalﬂd und‘d:sﬁ:buieﬂ wmi:img

C) A anha.sc Starucmne»c[r.ﬁ nIIEma!nr-’stmp'h:a &Juqd nf 10MW at pf 0.85 6
laggingand at 11 KV (tennma.t ﬁ!!agc;l;Ita rrmstance is.0.1 ohm per phase A palysis
aried i;rnnhmmuq re:bctancn {II Eﬁ nhm per p]'!a.l:: Calculate the line value of

-;'n:mf genemmd j * }

Ly

IJS ..""rnlvé ﬁm;r Tur.‘r ul‘lhc I‘ullnw'ing
A) ‘What is vnlugc regu[umm m ulti:mntuh’ Explain any one method to find fr
' ".'u]l.agl: rc,gulalmu in a]tcnmm Hamamibes
} E!r‘nthmnuus |mpedu.nm: method’ EMF Method
£ £ i) S ZPF Method
3 : BJ Etatu rJ:u: nﬂ:eam;,- ur ]Jarnllcl operation of alternators. List the conditiens for
_Fj 'pmllcl npnmtmn A, KR
¥ ‘_31 -A 5 phinse stir mnnm:d aliernator is rated ot 1600 KVA, 13,500 V, The G
e ﬂrmhl'um TI:E:ISLi]I'll-'Fc ﬂﬂd synehronous repctance are 1.5 ol and A0ohm pe- Evaluation

spnmyeiirpcr phase, Caleulate the percentage regulation for a load of 1280
:.L.'_ .n“‘ KW’at ﬂ E Inudlﬂg power factar

.-"‘1- _'-. E

=

.:'H.

ﬂiﬂtatﬂﬂsaﬂ-ﬁ?ﬂnﬂa?FEBFlmmmaﬁﬁ
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Solve Any Two of the Tollowing.

A

A} BExplain

b heat I:I'L.'lgr-ﬂﬂl. constouction and wm‘kiﬂﬂ ol duubl:-.',,;ﬂﬂ‘*‘

quency -

wit

induetion 1motor,
B) A 4 pole, 3 phase induction mator operates from a supply ""'""'_“5-

e, 4

TP =
LRty 3

is 5S0Hz, Calculnie

ro

ars |

the speed at which the magnetic field of the stat

the speed of the rotor when the slip is 0.04

) Explain the tesis conducted to draw irele diagram o

i}
i)

=, ] "I '
¥ ¥ -8 . g
J L %) = 5,
i . T . e
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[ T (e =
i 1
S o A
s 2
1= 1 e
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v et
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g
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&

i it
fire

motor, Explain how, max, terque max. paswer output-

disgram

.5 Solve Any Two of the following.

itor

t diagram of a capac

LU

self starting; explain the phenomenan

ry.
) Demonsirate the

induction motor and explain its workin

B} Dlustrate neat sketches and explain why'

A) Draw the ¢

princi

>
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DR. BABASANER AMBEDKAR TECHUNOLOGICAL UNIVERSITY, LONERE
Regular End Semester Examination — Summer 2013
Course: SY B Tech. Branch ; Electrical Engin cering & Allicd Branches
Subject Code & Nome: BTEECH03 &  Eleetrieal Machine-1] Semester : [V
Max Marks: 60 Date: 22-08-2022 Duration: 3.45 Hr,

Tndfractions fo (e Siudenfs:
1. All the questions are conpedsory., _

2. The level of question‘expected answer as per OBE or the ‘:-'-I'Hl'-":ln'f. Otcome (CO) on
which the question is based is mentioned in ' m.ﬁm” af the question,

3. Use of non-pragrammable scientific cale, wlators i all e

+

. Assume suitable data wherever mmﬂm}r and mention i elearfy.

£ e A 2 {T.-_ﬂ\"l.‘l-"ﬂﬂ} Marks
0.1 Solve Any Two of the following. :."' F v > GF _' : ..'
A) With neat sketches discuss the mnstm::trur: ::nf a 3=pl1:ur: mducn-:m m-::ln:rr 1 Indml_and 6
B) Show by Mal_hemaucally and "-'n:tumllj.r thal in-a thne:e phase I'I‘.IdEr'IIﬂE ] A |
rotating magnetic field is produced when a:pp!bed with three ph.w: 5[:;1:!3." = PPy
) Discuss a brief note on E‘unsuuclmn -u:rf Ej.m:hmnuua machm: L Undermnd 6
Q.2 Salve Any Two of the rulmwlng e <7 :, e R
A) With neat sketches gw:ﬂ hncl’ m:l«h: an- H.H.mmmcs in. altemnmr :m:! lso Apply 6
give a reduction rcml:ﬂms’ _ _r'___-'.'_:."'_:'.--*" % F 3 g
B) Memorize :h-r:fu!iuwmg wmdmg lerm:nnru-gms LA &
1. Smblu: Ja}-m- am:l ﬂnuhr{: i:u.r:r wmdmp, *
1i. .'Furt pm:h and shun pm:h Wmdmg i |
1. tmmmtmmd .-md dtstnhu!ed wmdmg > .“-a T AR TARS Vs A
C) A 3-|1-hnsr: Sl:u:-mnnccim all:mamr supp!l.e:. o load of 10MW at pl 0.85 &
lagging and ot 11 KV (terminal mFlnga.,g Lis resistance is 0.1 ohm per phase Analysis
and synchronous Feactance .66 ohm per ph:as: Calculate the fine value of
emf generated,
:3 Solve .-ﬂn}- Twaal the i'ullnwhu;
A} What is voltage repulation in alternator? Explain any one method to find 6
voltage repulmion iy alterator, E; Rervember
i) Synchironous impedance method! EMF Method
u) - ZPF Method
B)  State the neccssity of pusallel operation of alterators, List the cond i L
parallc] yperition, } e $tihe conditions for | yderstand
C) A3 phase star connecred aliermuor is rated at 1600 KV A, 13 =00 ¥V, The b
armature resistance and synehronous re; stance are 15 ol and 30chm pe- Evaluation

sp-ev:l:w:]:r per phose. Calculate the Pereemage regulation for a load of | 280
EWanis [-.m:lmg power factor

.

l. :I.1L'1 .:_-' l}.'i-EC:'IE'EBE-lﬂESHDC‘.’ITFBH]quFmEH

—_—
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BASANED AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

. BA
e Regular End Semester E xamination — Summer 2022

Course: B. Teeh. Branch : Elecirical E ?p:;nurh.ﬁ Semestir s IV

Subjeet Code & Name: BTBS404 Analog and Digital Electronics .

Max Marks: 60 Date: 2308/2022 Duration: 3.45 1.
Studenis:

[nstructions i he
1. Al the questions are compulsary.

3 The level of question/expected answer os per OBE or the Cnirse G‘Mmmg o))
. o which ilie guestion fx based is mentioned In () dn front of the question.
i Useaf pon-programmable scientific calculators is allowed.

_F: Assume snitable data wherever necessary undmemhm i l:i’mr{ul b
Fa ey {l.i?tln"l:!ﬂ_} Marks
Q.1 Solve Any Two of the following. m_.-,.\;:._ ﬁﬂﬂ ! g : -_ S ?:ﬁ
A) InaCommon Emitter configuration nflr:mslsmr :lmphf'l;r if: 1-":; = ]2 ‘lu' U_g.n:mj?
Be = 3 K-chm, determine the cutoff pmni und saturahan pmm and dra.w —' -3
the DC load line. w3l i AT 5
B) What do you mean by frequency T:qmﬂm‘: :uﬁfn‘? Dra\i_f j_h_i: n._aliur-: ufw:unr: [L?ﬂ:!:lt]n
mddefneupp:rmdlnwermmwﬁﬁqumdﬂ P i i n-,.M
C) With the help of suitable dlagram ﬂluﬂ:a!e. cﬁscadmg’ nf mmplzfnr Alsn 5 {1.3&:{}1]
derive the gain relation for ﬂnq! slugcw_ £ _:_5 s -. S L @
Q.1 Salve Any Two of the l'ulln?rmg. 3"‘ SIS SIS PSS S 1x6
A) Niustrate the working ul‘,ﬂpcmimnu] Fmpih.ﬁ:r m:‘h ﬁ'uﬁ hﬂp nf hlmk (L3/CO2)
diagram. Explain each stagcm bricE T £ CERISESE Gt
B) An inverling amp-hfe:r np-uratmg - +. 91’ resmtm:u:e cunnn;-r;tmd to the (L3CO2)
inverting ttmimalml} =E ?K—ulrun ;n:stsianm: Mnneht-:& in: l]'n: feedback
path (RO)= 10 I{-nhm It the i anput. ﬁIE,T.IIll apphe:l 1;5 ha'.'mg amphtul:tc af
4V, sketch ﬂ'l# m]:l::t a:n;l ::nulput wav;e[mns;, & _,: &
C) Mlustrate: tI:u: wurln':mg uf rtg&ncr.lh*.'r. mmpﬂmmr usmg pperutional  (L3/CO2)
:lmph!':r 'mth sum"hl: n:m:uat d:lagmm, _nlsn sk:lv:h rhe input and output
ww:f-:m:s - ;-'~'- ,_«. 3 FrES ,_.ﬁ
0.3 Solve An:.-' Twn nﬁlm fullu-win;, S : 2x6
Ay Tustify, that !‘-M'JD and mn glés: are knr.nlm as the universal gates, (L3/CO3)
'Impin:menl HAND Eatu usmg NDEL gnn.. and MOR gate using NAND
E-ﬂll:h " : 5
B) Use'l's r:nrnplemr.n: ml:lhnd 10 8olve’ the fnlluvnng (L3/CO3)
(101002 = (0110)2 and {52_‘1!11 - (32310
F'}' Ir H“"‘"‘“!E code E:qur:ncr.: is fransmitted and due to error in one position,  (L3/C03)
+ rectived code as | 101 1o, Iu-:aln: the position of the error bit using parity
s Eh'“"'ﬁ E'“d L"-'ﬂ th\'- IT‘LHhEI-d f'pl.' ebtaining the comect sequence.
13 e ﬂ'_'_l.- S“.I"F""-‘ A.ﬂ}' qu ﬂf ﬂ“: rﬂ“““-inﬂ 2x [
k | .' .A_}_ “ILE‘W"-‘.- |Tl hntf‘,’.rﬂr}unﬁ D,I'TTL NAND Ei“e {LS-'IC'D#:I
Ff -"I.-'I-']_.-W“h the help of neit diagram, explain working of CMOS 2-input-NOR  (L3/CO4)
¥ -:.ij".'-'fjaft “Tabulate all the voltage levels for each case.
et ¥ Ey "'3':5” 3“'°l§_r51=ph- binary counter using 1-K. flip-flap. (L3/CO4)
. e e 1 1"'\-;
OFF 1 DA S BISEOMONISE93FETI 13 =
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S(LCOS

Q.5 Solve Any Twe of the Tollowing.

=",

K-Mag”.

i

funetion USLNE

following

the

A} Simplify

T

(ABCI) =¥ m (3,9, L12,13,14,15) + ¥d {1,4,6)

By Mustrate work

_of.

description

n]

4 bi

. .

it Ripple Camry Adder. Give
1748

ng o

1rce

dvantage of the ¢

150

[

multiplexer. - -

g

the d
finetion

mermediate corry stage. What

e

using

I'nllml.r:ing

Implement

)

FXYZ) =X"Y'Z+X'YZ' + XY7' + XYZ

ik End L
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SY - Elrctaenics

DR. BABASATIER AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

Hepular End Semester Examination — Summer 2022

Course: B Tech.
Subject Code & Name: BTETIEAGSE  Python Programming

Branch : E&T - ,‘-i.-cmt-sll:r_.- Iy

Max Marks: 6} Daie: 274082022 Duration: 3,45 e, -

Instreeciions fo the Stdents:
1. Al the questions ore comnplsary.

3 Ul nf,nm.;nwrﬂmm.r.r&fﬂ sciertific ealenfators is allowed, -
4. Assume suitahle data wherever nr-c'e.mrr) ﬂm.l' n.l:'rr.rm.r; it fffuﬂt'.-

Solve Any Two of the following. i, : O A _ 2

R

State and explain any six fentures of p:. llmn :

&l A

F‘Iphlm input and print mmmaud |I1. ]'I-}'I-I.mn. u-ith 5uﬂ;h[¢ Hﬂmplr.-. =,

P e _
e Y

."' ."'H-_ i ]
S, ek,

Solve Any Two ul'lh: l‘nl]n;rrhg_.._: : ",' :

J-\.

E:r|1|a|r| wl: rlE }lﬁnp w’ﬂh 50 1 3
,1]'!1{: dimm:l: M_it'n'l!tn"l'!.'l."u- mim;r{)in kr;.”}tlglinput through the keyboard.

..\..-«.-- o

Jl-"r'rﬂe : mthnn pmgmrn .iu- mﬁﬁ:rf .-m:l |1rmt this distance in meters

- l.-.q_,.a-.l,.-__-x

.:inﬂi:entimﬂm Efard A

3 e --"'-'..
.-.,,._.----_ .-\.a-.-..'

-—_- 5 -I".-'-',l-"\-\.'\-\.-\.\._\.-\.\.h

el - R S ﬂ
_ l‘.llJ Sn!w Anr Tm:u nl' lhn Iﬂaluwmg
M .}.::nlnlin hr:ak, cnnﬂinhc mu! pasa statement with suitable example of
Fxpl:liu lpr:m'udl} :lnd r.up:.'r{} methods of list with suitable examples of
-f.s.r:-%!a:;:};-i:.: e

' -E}' ',l‘he Ii-n:fll d'.: hrmdlh of a rectangle are input through (he keyboard

oo
B

Wnu l p}hnn progeam to calealate and print the req & perimeter of

L ﬂlt rl:c{:nr[glg, &

_r
,1;- 3

! L)

5y
e
'|_\_-\.-

F

—
=

3 The level of question ‘expecied armver as per I'J‘IHL s f.fu E‘.qr.-r,..-,._. ﬂm’:'rmu- I""':fa!.l P ‘
witich the guestion ix hersed v messtioied dv () Iirﬁ'mn‘ nfl'.'u: ;m.r_-.-ufan -

; {uwlff:ﬂi. Marks
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Col ]
co2 f
ol [
Col1 6
CO2 b
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following.

Q.4 Solve Any Twao of the

aperators of python with suitable exampl

A} Explain “and, or, not”

€5 01

each.
B Write n pyihon progeam to print following patiern (using

f,

]

wh ||i!

Toup)

HHHHEH

A

a Tuple,

i
&
Pt
i
i e
PIFY
your
>
r\--,{
i
oin
E,;-".l'

WX
B
s
5
,
£y
&
L

!

Ex
&

-

&
talled

get list of all packages ins
H'
::.
{ﬂ.‘“
1.-1.;‘:;'
i 2
_jr
e
o gy
-,y
o
s
A
i
¥
I.rIr

A) What are functions in python?

B) What is package? What is Iy

...._...,... ....._....r.__.. .,r . i
M W N I P P M P .
.._1..1_ T ...._-u....n..n .__H...-.”._.._.r.__.._.__" ._....1.__. ..__..._.ﬁ__..__..._..._......r u__.-....__.hn...-r..“"_m.."_..—t.m..ﬁ..r.“_“
S e DA P R o
A N P Sl A B
Wi e, i D K ol b S
B R L She F_r.__v 4 by 4
S
i M R AR SO e e e

0.5 Solve Any Two of the following,

b | s
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DR. BABASAHER AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

Regular End Semester Exanmination — Summer II.II-I :

Reanch : Electronics and Telecommunication/ Electronics and Telecommunication

(5

M

andwich) Engincering

ax Marks: 60

Fristractions o the Stadenis:

Q.1 Solve Any Two of the following.

A)  For the network shown, find mlmgs:;_'

B) State Sqmmﬁsiiibﬁfﬂi@f&ﬁpﬁd‘l?

R = ‘

HEESS AV g

Al the questions are conp ulsory,

B,
»

b

L L

ﬁ.,_.

&

Bemister ¢ 1V

ot
e

Vi aid Vi tsing N
""\-{.-"' I-:E. n. . : oy '-'..

AT e O e RS

i

—

L1 . L &
2 - S i o L

T o LS L
o e R U R T T
Rl Ll i a0 L

=

L]

=5

(1

e

Y

50 Vs

a@®  Fe

—N W <

100 2

&)

1}

1A

ind ihe curfent.fn the |- resistors

g

il p
i Fag ol = ﬂ.

an
ANN——

i

10

G 3A

S0 the graph shawn below write the (a) inci

ly o

c; : Dr:“ﬁm: ﬂlinhtuhnsi'-ﬂr_umhdin:l'ﬂndc related to graph of a network and For

o N

Analysis-

bl
B
=

Course: I, Tech, Subject Code & MName: WTETCAN (Network Theary)

Date: 12082022 Pration: 3.45 ﬁr.

The level of guestion’expected answer as per B "-!"_ffﬂf_‘ﬁ'ﬁ'fl?‘._i'r: hitgome (00 on
wehich the question is hased is nrﬂ:.f.l':r.l'.h;’;f i’ﬂ_f,!l Iflfm.r:r n_-.l";ﬁ{.- ginestion. XS
[lse of mon-programmablc scientific calctdatirs is allowed = 7.2 00

- Assume suitable data wherever necessary and miextion it

eledrly. 27 <
I'.-_. Lot Sy ¥ __:-

_ £ :- ['Ll:_'l-"l:!.-'ED] 1 i-,.h,h

ar
a,

SEESeoi 6

A .ﬁ'

3

L

L% =

o " [ -

> AT ..

s e ",
i g \
=2

col 6

dence matrix (b) Tie set matrix

(5)
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Q. Bolve Any Two ol the following,
A} Denive Y-parameter in tenms of h-parameter and ABCD parnmeter

B} Find Y-parameters for the network shown. Determine whether the netwaork  COL, €04 "
s symametrical and reciproenl

CoLCOs

10 ® 3Q 2
O——ANAN, . A y——=—0
o +
Vy 20 V2
> &5
C) Define the terms: Transfer Impedance Functl-l'.'ln iml Trunsﬁ.'f Adm:tlam:c- C.‘{:II Cﬂ-l - °
Function, .“- 5 . -

N o I 'k A "

In the two-port metwork shown he]uw. n‘:nmputf: ]:-paramct-:rs I'mm tha.:- :

following data: R A N e

l\. Ak __'-'r

(2} With the output port strt-:u-::ullmﬂ ‘Ll']'tl'i"-" I:H‘L-L I== Zﬂ
{b} With the input port npm—:unuul:d 1.-',:-:[:1.-' 1|.-’-1h 5ﬂ‘h" l«—Eﬁ. _

o
b

Two-port network Vs

h s
e
Vi
o

]

.
o o Y -, e -
r X - - o, I e
|_-_-.1_-'_: w Pl Pl '? b e L S
f":' o b 7 -.lll-‘-"'\. ‘\-. 3 _-d-\' :_'\-_: e . T &
. T o T

0.5 Snlv:u&n} T'm:l ﬂl'rju_- ﬁllﬁiﬂgm ".:: P
A) letsc E’auer famls_aflli-: }u[lnwmg LEJmpEdm:r:u I‘um:hnn
¥ “..d‘[s] 1032;;145 +]
| 11} Wnll. a .s|:~1 m‘ n-nnnn] firims cquntl-::na for the cireuit
| . i COLCO3 6

. _ | in

ey

CoLcos ¢

"I__ -.I-T.'q"'-'l

in

I
60 '

AW
P
=]

.

L} I'-'..

="
- = "'\._

o ¥ R By . i ] 2
—

Lo c] Exptmn abmnlmmg:munc
ot m:!'mur"k filters. st and Carsetersie Tnpean
SIS 3 ¢ in I1- COLCo3 6

= Sy _F__I_L'-\-"' _.__, g -"." W
SEEFS PSS T i TR
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0.2 Solve Any Twoof the following.

I |
=)
E

A) In the piven netw by ‘
conditions as Fero, find i, di‘de and & di at =107,
}; 1011 1H
o AN Wk
10V = D

0 .
B) Find the value af the current Iy in the network shown <0+ 2

n _;4 o 1n..::iu-1..r

+

€) What are initial conditions? El-:p‘m

» o
ind Inr“‘ g Sl
capacitor and ug 53 -'*H-‘:.-;
-. "-"" _.' = H'\F ] '-“' "'i

(.3 Solve Any T‘n‘u nl'l!lm fnllnﬂfng-
A) The swilch § m T]JE

the wltup: HCT0ss Capa:unr A N
> 100
:"‘::L-J 10V — . g‘un 2F= vl
HEFES .l_
.'-‘*'...: ol Y
foogl Lalt s Al

-

313} : E-»:pl:un The H:h:wmur af basn: iﬂr:mﬁ!ls in Laplace Tran

ZIn 111: J:-Elwnr!-: nfﬁg gﬁ'cn hnlnw ﬂ‘tﬂ s
g 2 a8t = 0.steady-state -:mdmnn having

=: ErIi'lwt-!l::ﬂ\un-(: {0 fart =10,

-.ll'.' H y
; |'.-". ' ":'u'{'l"\:"
e L e
O A i e _I _ﬂ
i 1

o

nciwurl: slmwn h-cluw smtc}a rs c[used u‘t t+ n Determing

witch is moved from the pusiliun 1
been estiblished in the position 1,

ark of Fig., the r.w:h:h is closed | mmmmg all |m1,,,| 'Cl)l co3

C01, C0o3

Co1

col
col
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AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE

dar End Semesier Exnmination — Summcr 2022

DR, BABASATIER

e
Branch : Electronics and Telecomm. Engg. Semester 1TV

Course: B Tech. .
Subject Code & Name: BTETCH0Z Sipnals & Systens

Date: 1808/2022 Deration: 345 Ur.
Max Marks: 60 - X
wetions 10 the ¢ Studenis: _
1'"-!-1"}'_ All he questions are compilsary,

‘expecled auvwer as per QRE ar the Cowrse Chitcome (C0O) an

chich the question is Based ix mentioned in () in fromt of H;L- mre.a.rfmr
l:;.r_q- of mon F,.-.-:Smmma'bﬂ':' seientific calenlators is allow ed.
Assume suitable dati wherever pecessary r'm.r.n’ ﬂrﬂirrr}.ﬂ u nl:'hnll"{:h

2 The level af guesiion

da

[Lﬂ"zl-"fﬂ. Marh

- - [ { o o N Al -
N ] = - - L
i - = M SR ol L = -
o Ty it (TR T et S, O :' 5
o ' L A o . W Y o ]
b il 8 ey A :
o b,
)

Q.1 Solve Any Two of the following.
A) Find even and odd parts of x(n)= u;’n] -'md plEﬂl rh:m
i) i) Find that the following nstcm is I:Mr ur nﬂ-t

1-'..

'r{l}l—l:l{i'_i P ;' LR o
ii) Find that the I‘ul!»uwmg__ aynh_rfl Is r.-::us:ﬂ nrnni

y(n)=x({-n) ,_ : - A

l. [ 7 | = --... - . 1 3
Determine the Ny qum m{e l'ur tlnequ I:uwir@ mgnih 2
99 LR 1}:{ﬂ=sln ﬂﬂﬂil’] J*

.':'.;'..'3.-.'_ '_ 2) If,l”““ (Mm} _F“

P
e .\-'\-Ld-"-

.......

'. ....-.ﬂ_

Q.2 Saulve ﬁm;' Twn ul'th-: .!ﬁ:nllnwm: g J
A) Dr&nw ﬂu': Inrmul: fnr mnmlu l.mn sum i'ur l!]lsl‘.'rtle time LT1 systems. 1

"_B]_', : I,'l Eumpute tlu t‘ull:mmg tuu;nlutmu sum y{n‘}ﬂ x(n)* hin) 1
r O r‘ .-'-I;_ :{n}- IL[:l]n u{n}
: '|I]| Cumpult the fu!]nwlng cum'utulmn sum y(n)= x(n)* hin) with the

:'_-‘-'::':t:hulur mﬂhnu’ of conv nlulmn s,
y J ; t{ﬂF’IL'J 3, n=01to3d

e TOLE S N TS
_i[‘:j__.i_ﬂnht nnd shmll the following Convolution integral. 1 [
G S E_ ‘. *:n[l'rl for -1=<t=<l

_ =) ptherwise

: o ="'1; h{t) = B{e+1) + 26{t+2)
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A E_}

0.3
A

)

Q4
A)

C)

0. 5
A)

B l-ur lI!n: milrming mrs!:-m funclums

.-_Eﬂh': .ﬂmj- Twn of Hu: fﬂlluwing E . '_;-"-_.

e TR — e e N W T

Solve Any Twa of the following, I
5| HU i H
Finwel thie trigonninel ele Fodirier Sepies Tor the Followimg 56

MO=1M2n , O<i<ln

‘ouricr serics.
1Y State thee Diriehled eonditions for the existence ol Fowricr §

o ; the
2) Devive the formula for Trigenometric Fourier Series for

wavelorms with even symmelry.

Derive the relationship between Trigonometric f“"“_]';-'_‘-'l"_'-'“""’_"_“a_l :
Fouricr Series. i.c. derive the formula of Exponential Fon rFE[._ Se Il'1f-5
starting from the formula of Trip_nnﬂn_l!:fl_‘ir{ Fﬂlfj'i_l_fr_--_gl‘riff.- :

il l e
= N

e A Dy e,

Solve Any Twao of the following, =" - Z- iy
State and prove the I'nﬂnw]nglzlmp:rllr_rufﬂm
1. linearity =
2. time shifting
3. time reversal
4. I'requntm:yahlﬂmg L .;'._*_. o 2 L _
S. differentiation in ummum.n e P e

-_-
ax

,.- _-I'-"'. iy i "I. ..'-._1. = o

et g

Find DTFI’ nf:{n]—-l. u -n l]furanbI‘AIsn rnd m nmgmmde and

..\_.\,_\‘

Find the sysl:hureq unm:v rc-.;p-unse llfl:l*j J‘ur . :_
h{n) = 0.56(n) + B{n-1)+ 0. S8(n-2)- - o Y
.ﬁ.Im [I'I-I]l mggn[luuln nmj ]'-hn.-ae rrspﬁns:u. el

¢l ok T otk

=" e & gt s ¢ S
-7 _-\. . ._ I|_. | = = [ =t Uk

) Stute l!:u.- prn|||.'r!n:r.n nl' HI."}[.‘ nf? tmml‘nrm

.- 1. |

5 check whetlior the eq

Fres
non-ciausal by fi nllllng :IJI.'II'I:Img

LTI system is u:uusnl unllrnuu.;l or the in 7
. ; verse 7.

Transform in each case,

u.;rj u-_—‘.’%:_i,:—l's—ﬂ. 1 ::3
. _Find_._ll_w .lz;i.ﬁmll.'ulillm}.; .lnm.*-'l'urm af
I I!H=m for -1 < Rfs) =
bt Pod ves
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Q.1
A)

B)

Q!
:'n'.!

.m

IABASAIED AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
Regular Foiel Semester Examination — Summer 2002

pranch : Electronies EXTCEXTCsandwich) Hr_"u.-ﬂfr qV

NI BTETCAM Prolability Theary and Fandom

DR |

Course: B Teeh.
Subject Code & Name: 1

Processcs
Max Marks: 60

wrts £ the Studenes: :
Iﬂ&m“:’f e quistiony are | conmpnbiy
'E 4 lexpected anower as per l'.HH' ri.rﬂm E.rrl'n'ﬁ' !,'J'rr.rd'um;- {00 an

f pf question
' :gi‘l;;nu ﬂ,]u:fim:ru s hased is memtioned in () i front of the q:r:.mm.r

. w-pragrammable scientific colenlutors {s allayed
-J‘- ;F" of ﬁ;ﬁ‘ At wherever um*mr.lj' :mc.’ w.uﬂrm i n"mr.‘} ;
s LA g e .:' I| .1l.._ e {uwm} Mﬂl‘]ﬁ

e ]

1) Explain Uprnxrnm:tlt definition of p:‘u:ll::ﬂl:l!:ty ulnng; w:m h:uumﬂ @ 5n __'{LI{C{)!] f
I'rmn 52 e.m:ls l_nd ‘the pmbﬂhllaly nfﬂs ;

Ihane: 2ANRZME 2 Dration: 3.45 ]Ir...

2) A card is drawn al random ‘ £
=
L an Ace ?:'ﬁrh? ! ;f-ﬁf,;?lf e
b aSixor e R SRS
iii. Neither2 ‘Hmc nm_"n _Epnd: > ;5'-"_' : e
A discrete RV has I'ﬂ'lltlmng prﬂhihlllt'_'g' d'i.'mhungn Eov il ST (L1/COI) 6
. 0 |1 5425138 'f!“,'a-" B *-*- 8 I:.'-::é VrA¥

-

Find the ﬂlue: -:d' L. F{Hﬂ]ﬂﬂd mﬂ“h”“ﬁﬁmﬂ“ﬂ"‘ Ef x{f_&

-"'\:\'
»

A fair coin is !.ussnd 4 trm:ﬁ. Dv:ﬂm:,ih: n:np'lf Bpnﬂ'&‘bnrrespundmg tothis  (LI/CO1) 6

mdum -;xp-ﬁ':m:ql M:.n gn-‘t&.:li:;e ﬂ-l.i'h_sﬁh qmm:pgngmg to the following

:'m:r.s and I':_nﬂ the IEFEE[ﬂ'E.' pf‘hhﬂhlilhtﬁ. Fasa
Mt;m: Hcads lﬁm'.l'alla are: ubtamu:E ) w
Taa!s. m:umd o the Even nun:hcmd IH:ISSI:EI

e P LT a N, R
e T, LR, LS A T

':“" """ '.\",H_I- _;\- -.'. 'w- “-

Snlr-:ﬁu:yl T:n; Jri::;rﬂrm;g‘ o

D:ﬁm: 111: fuilnwmgt:mﬁ a!nng*mlh mnnphs (L1/CO2) 6
:rmmwé:-hammy s S

II Cm:f'um:ul th:l.hlht}r N2
Indcpcﬂdﬂm‘: S5

A m:mnunus mﬂd-ﬂm variable X that can assume any value between x = (L1/CO2) 6

2and x =50’y dersity function given by fe(x) = k(1 + x). Find the
'I."alur |;|f p{.ﬁ'x; -'|:|.

HDM wt of 5 51““““15 at @ local college say that they skip breakfust in the  (L2/CO2) &

! ': % mammg hnd “1': mean, variance and standard deviation if 10 students are

mlrdurul:.rwlau:d

-

~ —
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Solve Any Twinn

A) Finad the covarionce matriy for g
M I eald, customer an

0.3

fi

(L1Coy)

g

(g, a0 =

=

mrvival eof & customers in 1 minule using Podsson distribution,

T} Show i pgiven fnner product s valid or notlf o

(B, be ) € V(R

B

oy

]

(LICO
o

(L1

g

ein

verpenc
2

fs conv

1 y

o L o gy
jeni there is

D 1 __I,. T

- .1"..:')1
numbers-a
T

e

i

n:l"

#
i

o WL
Y LT
Py
A
i
aﬁ‘r&ﬁ.&? g
i et T
AT
i)
Safpandt
'E-?.;}
-&?;\-r
‘proper
-3
o By
Y=k
X

pability
&
AT i
L1
s
I
5 3
3l
toca
v
i

Prove: {a, ) = ayby = azhy = oyby + 4aghy

Firllawving.
IR CONVEFECINEE KR arae

A)  Prove that if there

4 Solve Any Two ol (he

distribation,

B} Expla

the difference between Weak low of |

of large numbers,

C) Expla

i

F
o
R
et hhrb'&
=B

B) Explain in brief Surict "Sénse

detail with proof Central |

inin

2) If X(c) is WSS p
determine the second o

Q.5 Solve Any Two of the followin
A) 1) Define Autocorrelation

o S _......u..._..__.... .mh_n__r .
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EB AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERF,

SAl
DR. BABA ftegular End Semester Examination = Snmmer 2022

Canirset B Tech. firanch : Electncal Engp. & Allied Branches  Semester s [V
Suhject Code & Name: (BTEECA02) POWER SYSTEM :

Max Marks: 60 Thufe: THAONA2022 7 "““r““m 3.45 Tir,
Instructions fo the Sruilents: : / -y,

estions are compidsory,
‘; r;-}l:l;:r:r:'j;urﬁwﬂmm eapected answer as per ”-I'”Lnr'r.hr: I'_-rmm:' If.l.uh:nrrn:' I"Lff-',i Gl

seliich the qreesiion I8 barseed is mentioned in ) rr:_j'm.m :.l_-,l"[.l'ag .-;rm-,-_:mm
]

_,gmummm.f seiemlific ealenlators iy allomwed.

| 1} :
T :":rimﬂ.rr ehater wherdver necessary .mr.r.l‘ m-mmf.- it ele mﬂ"_p .
A = ol _,ﬂ;.'_. '.,""_ J:T.MI-'E{}] Marks
Q.1 Enhzﬁnv'l‘lrnul'thﬂ'fn"nﬂ{ng. PP e o ._ 7
y Draw the schematic diagram of Thermal [H:l"-!-rﬂ'pli!ni nnd c:lipfmn l‘umtmn P [Il:rnﬂnbﬂ.} ~ 6
ﬁ e _.- T
in I:nm]:rﬂmnl! i
B) Ei::uﬁu:he rajor equipments used i m ﬂﬂctﬂmi su'hsmll_fh? ﬂi:_w ]'JIEnT_ Llrndcmmt]l 6
C) Dnwihe schematic diagram of Hudear p-ﬁwcr pl:l.nl Eﬂd bﬁ.‘p!ﬂm funr;tlun -:|-E' !,Rt"'l':rﬂlﬂf‘,l G
-"'5 I'“._'.un cmpﬂﬂml _:.- - _-Q'LL : T\'-_:._':-_L.;.T _"_ ':.I ha - '-" y '_m‘d_".-.
:l‘ -}-: 1 ri':l'-.!" -,__-L_.-:: e F :.'. s
Any Two of the [ullm'iﬂg Eealts ‘.z{".-ﬁ";- AT , iy
92 i g T < (Remember )

l.,\_ Oh = - ; = '|: T A
A} Write a short note on trnnspusm tiffpwv:r ].mcs, L,,{}_ ﬁ; e ﬂ T
B) Explain the concept of selfGMﬁ wat

lines. H _;_ ey
Effect..” (Remember ) [
C) Writea short note on smrrfm | : ,Eﬂi;i;;c_l?
—— i .. “'\-\. - ""-'l\_ ; -‘lu-\'
s -'\-""'|"'\-.. .--..‘::I:: _;:" i H 1 -.l-‘-'- % :_f-
Q.3 Solve Any T'n'n ﬂ'th: I‘ulln:rwmﬁ 3 5-':3_‘5& Gr :':”:':l_"*h.-;':f;l_-"t.';:‘ E
A) Discuss the admnlagﬁ =md :Llsndvanmgus, nf {l} pu_a t:.rpr: msut:utars (ii)
eusnension tvpe insulatorse 7 w enl 6
B) %Tm :mt}“r!‘:nrs u&cﬂ wnh u{-_:lh:aﬂ hneﬂl‘lmlss the des.u*ahl: {Applicaticn)
1o n::sc-fmsu]amr&. + r'-_--'f-'”f nh ;:—;: J‘-na Remember ) 6
C) %IEFI:EE lhe wnuus chndﬁlur n!amnﬂs mad ﬁ:q' a-l.rr.fhead lines. {
o T X Tor A -;‘::T-,-%E_*_fff-"-.'t%‘.:: ;-';T-"
| - -h "- l.--r:.-\-\.l. :\.-‘-
Q# Eul-n: .ﬁn}’T!-muf lhe ﬁrﬂqmug.t Ay : o )
; .ﬁ.'] h:gmss the terms \fu!lagt r:gulntmn B8 upphed ta transmission line -
[Femteembet
m lhn classu!’ natmn nﬂm-ua l:ased on their length of transmission,
ft Expla 3 (Analpsist 6

E} Dei:'lu-::r: an r:pmas::-n for vull:::g: regulnimn of a short transmission line,
. ,gmug :hr: mlmdmmm T

c J ) - = i '\.. :

E_“ ’Q Eplu hn;' Twn of I!It I'ulluwme.. .
~_:‘hj h“l-"r’rli#: shiort fotes nni!m In]lm-.rmg (i) Distribution transfomers (ii} 3-wire

o .._* de dlsmhl.ﬁmw- L B
57, :].n: ihr:d d tions of distribution system? Explain.
BJ' Wﬁﬂt =5|g'| :-;msl eration o o g

= ";E’: Whatam lhe mduanugm and disndvantages of d.¢. trangmission over a.c.
£ fransiission?:

o T A #4s Fpd ***

(Remember ) b

"":-

T “".-{ .‘
‘c

[ S :

— il
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DR BABASAHER AMBEDKAR TECHNOLOGICAL UNIVERSITY, LONERE
Regular End Semester Examination = Summer 2022

Course: B, Tech. Itrunch : Mechanical Enginecring Semester 1 1V :
Subject Name: Strength of Materials Subject Code: NTMES404
Date:24/08/2022 Duration: 3.45 Hr.

Max Marks: 60

Tnestructions fo the Students:

1. All the questions are conpulson’

2 The level of question‘expected answer as per OBE or the Canrse (hutcame (CC) on which the question i
hazed s mentioned in () dn front of the question :

3. Use of non-programmable sclentific caleulators is allowed - : :
4. Assume suitable data wherever secessary mfnrr-:'n!.l'r:mi'n'r-’mr{n A D
i = ALevel'CO) - Marks
Q.1 Attempt Any Two G ..:.,- h: _-_‘ R ﬂ o 5
A) Derive an expression for deformation uf hml'u-m‘lly' ﬁpmng ::||'cu|;1r cmss. I:'D[}]] 6

sectional body 4 ok
A composite bar made of copper, steel and hmss is ng:ﬂ]y nua::h:d to |.h|: :ud

It} :
supports as shown in figure 01, Determine the stresses in the three portions nru-.e
bar when the temperature of the compaosite sysiem is mised h}r '.Fﬂ*'C uﬂ'een -..' &
i) The supports are nigid i) the supports :,.-ml.d hj.r{} & mm. ok .;ﬂ i :_-
E.= 100 GPa, E, = 205 GPa, Ey= '951’3[':: _:'_._.-_1._. o
o= 18%10%/°Coo=11x m*f"n: .'l- J .:: ST ity
L v .‘_. : - r.- .-': . -_ _'. .'.-h-\."_' _,' ._"' -\.'.:. = I.:.' 1_ i ! :'L : ;3 b
= [9x107/°C ar R e R = .q.'_.._;_--__-. - ; I.qu]__'__ﬁ-
COPPER anj:sa i ,.'. FI s "

o ey~ (T
s .- '|- _, " o Fﬂg,l.'lmﬂ] -..-_: - I
C} A plane elm‘nmt |:| :‘h-:uler R T su‘n;mb.ﬂi to hnsﬂn ‘ﬂ*ri.:w:s -of 400 MPa on one
plane and 150 MPa on the ﬂther ‘at right :mglu ‘Each of the above stresses is
amuq‘np]mhr:d 'I:ljr*-a.ﬂ'u:nr stnl:ss l:lf IDI}I MPa; 5u-E!'| H'lut when associated with the 6
minot stresstends o mm: he c!-r;-mhir. in n.n!u:lnqk\r.'ﬁe direction. Find: (CO3)
i Pnnﬂpalﬁmems and dur.n dsrectmn el
__-ii. ‘n{mmum shem' SITess - : A=

P ¥
._-\.._ e L AR

= B e
= ey =i

—

02 'Mtﬂmptﬁn;r Tm::- g

o AY A Wﬂﬂ.ﬂﬂ 'm:tghmg. Eﬂ' kH ls ﬂtlm:hl:d 1o n‘wm: rope and is moving at the speed of
o3 -;'5 4 Janph. The rope stmIﬂ:rms and ‘wagon is hmughl to rest. If length of rope (coz 6
e cis 3 me “and: dlam-n!.er is 36 -mm, find maximem instantaneous stress and )
=t '.,clungatmn of rope. Take E = 200 Gla.,
By A rmangnﬂnr pier js subjected 10 a compressive load of 450 KN as shown | in
T flg-m: 0z _Fmd strm.s mtr:.nsmcs on all the four corners of the pier.
REPICISTI o Tm §| — (co»p 6

T TS L i
2D ST A | T —

- _‘ _',- . -_-_-11..\. Figure ﬂz
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€) Interpret o relationship between rate of londing, shear force and bending mm_l_m:{" .IE-D."J_.

=
1

Q.3 Attempt Any Two
An T-scetion beam 350 mm X 150 mm las o web thickness 10 min & n“"gn

M trickness 20 mm. If the shear force ncting on the section is 40 khy theg n"d'.x X L I
a) Maximum sheor stress developed in the section St o a4 {mﬂ LR
b} Sketch the shear stress distribution diagram FN g -;-_ i '
¢) Total shear force carried by web e -'-'- F s e

B) Derive an expression for Flexural equation along with ‘-"55“"”!"“"-"“5 I:C'Gi}

C) A beam of T-section, 4 m long carrics a uniformly """"l'""':d load “;, per. mﬂ“-
run throughout its length. The beam is simply suppl:rﬂl:ﬂ g"l its L'nLTE ‘Thl.: T:Eﬂﬂlm [Cﬂjj ﬁ A
has web 18.8 em X 1.2 em and flange iz 10 em 5"-3 ““‘-Mﬂ““ the mh:umum i ;
value of *w’, so that the stress in the section flﬂ":ﬂ“-"" ﬂf’:ﬂf E:_DI'-'H:?_'{' T '7.;' SFFe S

.::::“'_\:{: ’;-h_.:__"‘ -q_th"f _'Fu"_:;:"_:.rf__':_?‘_ '_ ';__'-'.'___ ¥
Q4 Atcmpt Any Twvo A A S
B T

A) Derive an expression for Torsional fnruﬂﬁ’ﬂ ulﬁg Wlﬂi,-ﬂ! "-' .}1 o, A -' s I:Undnrjqnd_] 6

B) A Hollow shaft with diameter ratio. arﬂ*ls“;cﬁguéﬁfq-hmt aﬁq‘kw amm
rpm, the maximum forque h:mgﬁlﬂ%;ﬁ\re atets E:-;m. -T&{mnxrm'.[m‘ﬁhgar
stress is not to exceed 60 Nimm’and me"[-‘ﬁg'l:d -I 3 Iﬂh-ﬁthf'}:{l‘lﬁls?rﬁE‘l:f {Apply) @
exceed 1.4°, 'l‘.:alculm the mlmmumdmmsﬁ ?ﬂ%ﬁﬂ“ﬂlﬂﬁ = '_”:.:_ =
Take G = §4 Nimm', S ars S

Ly
ok, I
ST

C) A hollow Cl column of e ';!]d

'_'“-L
3

1'i

R -:33".’-‘?“.4

.i-ﬂ-::l. i Ehl_-_ E_Sﬁ- of the {l‘ipph’} 6

= . = L o gl
eolumn required by .ilsii i |H$5L_p_ﬂ'§1r§%|gg-.j oristant”of =1/6400 &
T Pt o il i 2 -l Aol e A
working stress at E‘%ﬁ.ﬂiﬁ‘;_fﬁ S N e 3
£ 0 S e A a H B L O )
-Ea."-_-""'"ﬁ-.} 3 "'\."-I:."li"e.:.l_h |I.-"',.l-'-_l- -:'_"-P-'I %, ‘;."_\'
Q.5 Attempt Any Twé & Sf £ 58 et {vﬁ?“
ST R P A R T
JI-.«..J_":"\-.'I-\. ¥ AT o B R T e o Th
A D } -I-E‘. s B L -:E ; *EI-I I e ]
:I figure 03 #&%}zﬁ i3 ;}.Iﬂ %ﬁf “'?"‘:’?-:\"FG'E""-“ LR Wesshedl o i
SR ST S g e TS DL A
o R L T B B e
SHAEEE STIESFIFIER L
: y J
Fw 16 ki oy 6
ST, =
i b F

. xr.-.'_-',- ,__‘a- W i\. E !E'”" m

g
E:’IJ.I

G B o i L s Bt Iil: d.l msE
RN e B ST oS agmms for the cantilever beam as
- . A P _-\1___- _1.5-_‘] :‘. aizs oMY TR* o Pl W e,
S AT T SN AT e
g Y 55 A _'.I.‘-.’*_;:.qa'j":a_. ks ' d 1 kW' 25kN
T-\:.' -..:- I.--_:- _;J' .::.t.:.-"l-\. ‘:-\. 2 ':: _r l 1 l
IR S e S -l ';'..-t' ._1. %
-'; o g '_.. e - ! ".-._ A i} G [CD-‘} ﬁ.
Al o m  18m 2m D E
s AR o b s 05m
3 !,:.:'" "1-?.- _-'H-,.-- = 4 .1:-"'.;'.' '..-";;."_. .
e ¥ Figure 4
gt ;-"'ﬁt,hﬁﬂjlj! -""'-Bcli' LIIE Il!rJ- intermal hinge ot 18 and is loaded shown in f
g e ghear ﬂ,l-fl"-ll'li l!t tling mament di; In Lipure 03, Pl i
ST SIS A : werams and locate point of contra flexyre, | (CO4)
05ar4)
B T
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(.1 Solve the following, R A

&

DR BABASAHER AMBEDKAR TECHNOLOG ICAL UNIVERSITY, |

Regular End Semester Examination — Summer 2022

Course: BB, Tech. Branch: Mechanieal Engineering  Semester: 1V
Subject Code & Name: WIMO402 Theary of Machines |

Max Marks: 60 Date: 18708/22

Instructions to the Stwdengs:
1. Al the questions ave compulsory,

LONERE

Durndion: 3,45 r.

2 Thele u.."nf-;wmm expected answer ax per ORE oF the anrse Cilconme § .ry i

s

Lise of non-programmahle sefemtific calenlators ix ellemvicd
4. Assume suitahle dote wherever m {‘r'r.mn' :rm.l' nnerdion it n'run'_g

'a iy

A) Fig. 1 shows part of an opposed piston cngmc mu_h'mlr-m T]i: wlcmq}r uf‘

the piston E for the given instant is TSD mm-fs ﬂm ::mnl. 'D.-"h. m'r.u.tl.'ﬁ Y ot
uniform speed in a clockwise dln:n:l_mn :mr.l 'lnal{ﬁ nn gnﬁ}ﬁ of 45'} A

which the question is baxed iy mentioned in () dn frduind rlfH'Hr frne .-.'.rmu _

: --I:LE\!'H-"CU] Marks

hppl\r f

vertical as shown in Fig. I, Draw 3 vctucn;.r duagr.tm :md dr:tumunn um_' "_-:

speed of the r:muir.mrpm [m— Sllm.m .-!m nm fnm, Ec=|1umm cn=-'

0y e n '-'

CEE G R b e T
220 mum and DE= 100 ma 25 8T F o e O

2 LI FIE' 1 Tk
1) _E:pia.m wulh 5Ir:¢tr:'i1es dlm&i’ﬁﬂl t}']ms ﬂ-f m:isu'mnr:d maotiaes.

. } :\‘

o e R =
o - '._--_.'--L.- g

- Q.2 '5ul1m A.m'_Twu nl’ihr I‘nllnwing.

‘A) " Ashaft han a numhﬂr of r.n]lnrs intn:gml with it. The external diameter of the
: cu]lar is 4EIIEI mrn and the’ shaft diameter is 250 mm. if the intensity of the
]:m:srurr: is 0.35 Hfmrn nru:l the coefficient of friction is 0.05. Estimate

' puwer absnrhmi when the shaft runs ot 105 mpm carrying 2 Joad of 150 kN
and i nuln'tl-:T of :n!lqrs Tequired.

]1} Der.w: Ihl: txpn:ss'run Tor a total torque acting on o truneated conical pivot

.' ¢ be.nn.ng cmmdenng uniform wear,

C} ril!mt-:m.u:al pwut supports a load of 20 kN, the cone anple is 120° and the

ln’[-E:lElt‘jl' of normal pressure is not to cxeeed 0.3 Nimm?, The external

CE Scanned with OKEN Scanner
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A [)mw Ilm [m:l ﬁle ﬂfﬂ cam ﬂPE'I‘EIIIHE. a roller reciprocating

e "__'_'gl._:i_:gi_t_"'““”” followed by n dwell period,

he putcr and inner eacii of the-

diameter is twice the intemal diameter. Find t Pl

2000 ppaw and the cociTicient of frict

hearing surface. 1f the shall rotages af
PR Pressure.

is 0.1, Findd the power abeorbed in friction, Assume umile

Q.3 Salve Any Twao of ihe following.

A) A centrifugal clutch is to transmit 15 kW at 900 r[!llﬂ The
number, The speed at which the engagement is 3/a™ of th :
The inside rdius of the pulley rim is 150 mm and :ht: m.,m::r of gmwu-' uf,__.
the shoe lies at 120 mm from the center of the H"'d'“' T"E 5h-nr.'.5 pt hn:::!-
with Ferrodo for which the epefficient of u"’ .Fndl_lﬂl'l mq:,-' 'EI*E tal‘m Cie 'EI' 25 Iﬂ R
Determine the mass of the shoes and smu 1:'1' Thﬁ ‘ﬂl““ 1I‘ thﬁ ;mgle y
subtended by the shoes as the center nﬁllr: Epldcr is Eﬂ 41]'13 Illl! prcﬂsum &
exerted on the shoes is 0.1 Nimm®. ._a_.::' s _: : .' SEEE ml

B) A differential band brake as shown in Fng Ime- an aﬂs!v_: ﬂl'cuni.m:tu[ 1;:5“ __Al}'plr
The band has a compressed wm'e:n Immg'lmﬂ hﬂlﬂ ﬂﬂﬂmﬂ ﬂﬁm'ﬁ”“ drum : 3
of 350 mm diameter. The h‘ﬂkl: 1& l'a iui’ld-lﬂ a fﬂ?ﬂ“‘-‘- of '35“_ Nert '“'"d 1114:
coefficient of friction bl:l:'i'mm tlm Imnd dnd drum45 ﬂ 3 I'm-il “'IE “Emﬂﬁ"
force *P* for the :!u-:l-rwn: mtulmn nft'hrdmm nm! II'F: “ll-lﬁ frT "-'3”" for

'l-'a'\-\.'\-\.

the brake to be 51:]f"'|{1|:i'|1:g urhm l.],l-l: drum rn!,ﬂ'lns m_clul.'kmsu

shoes are fourin’ Appty

. mnn'mg sp'rtﬂ'd :

ﬂil.mm:]nm’l'um

P Sn i B,

'_“ £F "Ijg.-i;

F A

s l:] El[ﬂ'ﬂ'ﬂnﬁﬂ! hl:tw-bl:ﬂ ﬂhSﬂhﬂl‘lﬂn ‘I;'_l.l'p-E: dmnmﬂcm and transmission type  Remember

£ -\._:_ g

d:.rnumuim:tm a '.:3."__" ST
i g T . o et vl
5 B = A el = 'I r' - ':-":I- : L :_:‘:I..-\:"
e - i Tt
i q-: Enhulm ILrlfuwing. ot 0

follower having a Apply
m]J:nham:lr:r 15 20 mm. the minimum radius of the cam
is 30 mm the caim raises the folfower with simple harmonic motion for 1107

> nF |L-;'!|.1:|Iﬂlm:ﬂ Iua:lnm:d by a period of dwell for 50° g follower descends

Sy ﬁ:lr the siext 120° rotation of the cam foll i
% gt ower "u'L'l“l unlﬁjm‘ mcl .
Crtion ;md

llﬂ ufflﬂ ml:n I:Hl.'.

e
S P L
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) Explain with figures any thiee types of followers

0.5 Solve Any Two of the Tollowing.

Rememlyer

A) Explain the direct and reverse crank method for determining unbalaneed
forces in radial engines, .

pply

ong. The planes of A

for.

wm

..
=

ek,

are 50 kg,
pans fi

ng

i

i
L
3
Ty et
"
w Wy
- =
by e L

Iljr'3"|:'|;'I'II'I'I and 200
ing massos
vmh

- Of the cranks i

by
ns

&
positio

o]

ir pee

rotation of the first, second and fourth cranks are:
60 kg and 50 kg respectively, Find the mm_‘_ﬂfﬂm rec
the third cylinder and the relative angular :

respectively from the third crank and the
that the engine may be in complete

B)  Explan the method of balancing of several masses in the same pla

¢y A four-cylinder vertical engine has eranks 150 mm |

(¥ Scanned with OKEN Scanner



0.3 Solve Any Two of the following.

A) Define the term Governing of Turbine, With neat sketch explain he -Uhl!lfl.'!nlanding.l'

ill

working of oil pressire povernor,

L ros.
Illnlmstﬁlidlﬁpf'

]

1 frianm

#

By What are the charmclenstics curves of tbine? Plot and expla

] : - -
W ke et W e =
. sk ...u ....nr. ! i .-mﬂ -WP
a . L =h
= | 10 ..-wn__.... y __.. ._m..f ; 1@ ; - =
..lm ....... ' ﬁ..._..... ; e |.m -
o g T AR b R = o 8¢
- Fopma e ...... .........m.. ¢ - e C C c
9 BLS i En g s | -
7 m e A ...1. =] m.........._..n_.._.. ) o oo ......_.._ .m m m m
= =y Y e b 1 " s b g iy s
VD O e R ey, P
L bl g™ ol . ._._. .In .|..-.|...M. " |...... L= T P ...|.1...._ 5 ol Sk
S R T ¢ 3 F
. - ....u_ _......,. = - ....rr...m.r,r.r.. .._"....l.-.__.. L.,....:...-."—....,. .r.rn ._—r.__-.__-m.. = p—
L e e A A R RS e R e SR P ot
o T - PRy o At L ey = "
- g o ey Tp R Sy FE T g, I S s [T =5
e ........_. .h.._...m. =y hm ....naﬂ._..-r...._. A - m..___ i3 .___m_.uJ._..”__...h.. e, .......u.u o m L
Ty o g g S o ..“..Ja.._n_. ] ..........r p i b o .1._,.__._.“._...__”_...... .,._.__.“_.".._ _.J“"Hf ._.m..r.... = = M
' L Iy S e ¢ . Al =1 ey | w g} o . "~ ]
gt e B B S RE e St e, & @ 2
gl g R e Ny TR e _.ﬁ.._.m.s..._w._q mwr;nﬂ,.ﬁ.wuﬂﬂ.%w__iw 3]
e e A o e R ] 5 L o =
S B R G B R N I S T B m 4 & i
iy e T T, T Ve e gty e Sl e T g8 3 o
Ry Y A A - O =, ﬂm Pl ._m“m#.m_.. A Cpl Cptarys S A o e S~ T i
g R L7 ¥ i il T Sl iy .m._.... =
LA ......._a.' . .....m._.,.n_ = Jaus i G [y i Wy e n.&_e.._.wa Pl .__._u_wr
R U e L T Dl o R e LS M 15, @ g
= .M......r_. e L 1%mhv§mr e e e A Y A_.u@ %
e B g e e e e e N B ey o Y E
- £ Ohg BB R g L g i B S
g ¥ B . i e T L T e Tt L
E D ) E.._...__..w.._ =, .__.M 0 .".W_.\a.. oo 2, T e e el — e =1 Tt
i E . A .._m r .m.._ kT ..___.._n_.. g .._,...._ - .L._m_...... =iy, r..._. £ - _....____
= o MR b o S Eap e = W= e
= = = 4 = i g o g Sl Lo
= £+ -~ e =] nr.mrm B T W R ' x ; .._m_u.n._. 4 ___.h.l.._.w. Fo Bt
e = -] - S F oAl & r.!.._.. .,.rw.....-__m_."..n...u-._‘. .-.-.....-. .u.._n..w i o, .u“n. L.m..._.nﬂ it ¥ ol
R - e - = M A 3 R R BB ol
e S £ m E Shaugs iﬁﬂmﬁ& S B B By
= = P n-a.-_. e = e =, .....__. n.rumu- _...rnlj._..“w ; . ..J T e <l
£ T E ¥ m = E W, o, ot Bl o W i, SR TR e
Im i um.l. |.m ﬂnﬂ e lm kd w s L o i .ﬁ....n..l..q T ...-..._.l...-._ m.lh..—..“—‘..mu_—u..l..”.mﬁu_nﬁu_“..u |.”.. l..l.v:...:...WF.—. ...m.r " ] L..|._ .
= ﬂ ™= “ |.uﬂ.. — m o] e ﬁ;.m._..u.”n-.m—,.“.._..”m ...n.. ....-..-.f _,._...__. ....._“._m..._-n.__.-m”qh..-rn,.......w. s .J..r.._-lw..__..u......r.m._.u_.........m..... d 2 _w.__. :
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DR BABASANER AMBEDKAR TECHNOLOGICAL UNIVERSITY, ER

Regular End Semester Examination - Summer 2022 :
Course: I, Tech, Wranch : Mechanieal Engincering _ E?:mT:sh:.r v

Subjeet Codle & Name: WTMPEAGSC Fluid Machinery

Max Marks: 60 Date: 27-08-2022 g rahon: S Re
Instructions ta ihe Stusderix; -
L. AN the guestiony are eompulsary,

2 The level of Fuiestian'expected annwer ax per E}HE or mr.- Corrye Cniconte ﬁ:ﬂj
an which the guestion ix

based is mentioned in ( ) in front of the itestion.
3. Use of mon- rogrammable seientific eale ulaiors iy affowed: -
4. Aszume suitable due H'Imrﬂ-ﬂrmvm:-_p um’nmnﬂan it r:!m"'n’j"
YD :Lm.:vcm Mm
Q.1 Solve Any Two of the fullowing, s _h “4 __:.~"..' ST B iy
A} Obtain an expression for foree exerted and wurk Emg b!,r jELuf“’!lEr i L!r_ti!:i_stqn-ijin'g.’ fs
an flat vertien] plate moving in the Eln-u-:,hnn ul‘].gL - pe

o tﬂi
.ﬁ. ppiwngft.‘.'ﬂl 6

A et of water of diameter 10 oy stni‘.:s
velocity of 15 m/s, The plate i
direction of jet and AWay

Ilut pli.ll.B'.llﬂl';haH}" mlh )
is ml:mng wrﬂl‘wlmly vnl' E m.-'s in :.hr:
rmm manmu S
I. Force exerted by lhe Jchu: ﬂwﬁlM 3
2. Work done 'u:.r lhe Jnt‘:m !he 3:&1:
3. Power nt‘J:Lm 1;‘?-"
C) Define the fullnﬁ:r?gt

1 Drnmnnrnmut{w Y

iy

0.2 Euhr:&n:l- Twu:rf’th-r:l’nlluwm PR e
A) a&lu_:,ﬁ’-,ﬂ;&e;_:isj_i_h iag-q,;.';_iﬁ;@- 3 :_-_ oo

'4 Dlumcmi'jei 2 I:rm:rm:rﬂl‘wlmel

< -3 W:l]lh anddt'pﬂa nl'hutkni
R j'_!}". Eaplaln Ilu_- ::gm:l'rc*mn:r: uf -Era!l

. '_dra!'l ml-::s nl:-:nt sl'::trh:s
c] w

fube apd describe differens

types of Undmmrh:ﬂng.r
co3
Understanding/ fi

||:h n::u Sh::d'. e:plnm mnstmctlun and working of Kaplan turbine.

e e .
5. ' o L s ", 4w - ol
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DR. BABASAIED AMBEDKAR TECHNOLOGICAL UNIVERS1 Ty | ONERFE
. w LAENSERE

Regular End Semester Examination -

Sumimer 2023
course: B, Tech. Branch : Mechanieal St i 1
3 . sler ;
subject Code & Namez BTMPEAOSA- Numerical Methods in Engs,  Max o1 k6l
g o nrkx:
Date: 27/8/2022 :

Duration: 3.45 |4
[ustrnctions fo the Stidents: r.

1. AN Ouestions are Comprdsory

2. Drew neat diagram wherever necessary,
3, Figwres to right indicates full marks _
4. Azswme switable daia wherever ne cessary and metiion it clearly

r— o '- ol o
S I iy
Q.1 sabve Any Tweo of the following. .ﬁ : .:'h A ._:F arks
Ay Define and Explain the precision and ﬂm? i"-'ll.h m I!I:ll'hﬂl: Brelr , g cor )
- r\- 'r a ."r -

B The discharge 0} over a nofch for head _H ;5 nlru'la:ﬁj: h}- ﬂl"—'{m[ﬂﬂ H{ﬁll;l'h:ﬂ-:
k" is given constant, If the head is ‘?.ﬁcm andm effar E-T.ﬂ'lﬁnn F‘ ,ﬁnasﬁln ln “5

messunement, estimate Mmmmmunhﬁmuwtﬁpﬂ“ -HE‘E- ST = Pt
Lo -:-’:I-;* S RS .-.*5:-' il AT

¢} Explain with an mhﬂmﬁﬂmﬂagmn mr,h "-ﬂiﬂﬂﬂf

il il
&

iy Col  oe

Q.2 Salve Any Two of the I‘nllnwiugh_f“”i

S SN S 2

A} The bacteria concentration (C) in & reservoir varies as Crde ::_H: q.,|, 'E'ﬂh:l.llniu N
r:qmmdﬁ:lr'baﬂl!nﬂﬂmcmtﬂhuuinb:ﬂj

3T - -«.'J_.. "'."" _-, ﬂw...,.a._\__ o

_.-';.- ".:I

B) Using Bisection m'_ulli_-;-cl_” !if:_d‘jﬁéir co3 06

q

o i '{F-.\. F 1-}1..-'- a2
0.3 s-umufnﬁunue n:uuimi;."

.-.-_.\, A

Jn]l Elﬂﬁ't h:rﬂam:a‘ﬂimm }'I::I:Eud

-\..-... _\_

cO? 06

: |
f A

Ji:}x T:.i'-l-'.izi-ﬁu-ﬁ

“'ﬁ!*’“ﬁ}'r?:-#u'-i
e 3x+3’+4::*-1-1|u=2
5.1 '?y =2x4du=7

2V cor 06
-_;'_ X+ 3y t+oe=2

et e Ixeytdz=9

.'i'"-'*': . X-dy+2z=7

-'-\.l-\.'l,_ .-_ -.'.. .i_'_,.'__- :"

'w-.
{1 g::nii . ,IDE'. dlmenI! size mangoes. He sell a small size magno for Rs 3/, Cco3 06
A ﬁgﬁ; JT:EMN Rs S+, and large size mango for Rs 7/- The seller sells wotal 15
ﬁ:. N s ﬂnﬁ-’g Eta:]: Rs 'I?_L He has sold 2 more medism size mangos than small
...:r"'"fm'a- ~'5“§. oW many of cach size did he sell,
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Q4 Selve Any Two of the Tollowing.

valuate the f; {:'.‘1”-‘1] elx y using: twes it Sirpsons 173 101€
valuabe P f . L

A

'l:

T

"} elx using Trapernidal nethod

C) A train s moving o the speed of 30 m's.

19

0

|24

the train per socond afler *t* is given by

Tiie 1" in second

Speed *v* in mis

te the distance moved by the train o

Estima

0.5 Baolve Any Two of the fo

"

A) A chemieal factory wishing 1o study the e

43

a1

efficiency of an extraction operation (E}
Fit a strxight linz to given datz by

E

coz
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